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Question Number : 1 Question Id : 4557344801 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

The characteristic feature of Ectocarpus 1s

Green, filamentous algae with simple branches

Cells contain chlorophil a. d. carotenoids and xanthophylls
Life cycle 1s haplodiplontic

<HBF

Zoospores are pyriform with two flagella attached laterally

D850\ B0 000

L 2B J6FDS TP EOAS So0dhdrd ”;E§JE'):.‘."J£:\J BH00

I Swrod® 505 a. d 36800 HBSH &rofadod §OA ok

Ol  8-cigodH R8E 2ISTESH G0k

IV. ASo5dgderen 80506k ©5°606" od Dok IEX Swerodh §OA &olron

Options :

, LI

LI

-2

; LIV

gcollegeduniaa

el



Question Number : 2 Question Id : 4557344802 Question Type : MCQ Display Question Number : Yes Single Line Question Option

: No Option Orientation : Vertical

Choose the correct group of organisms based on their cell wall materials respectively-

Cellulose. Peptidoglycaon. Algin. Mycolic acid and Pseudomurein.

$0085% dorgeosH sgrdo BRED, 2Ho J0FTS IHIESrY) HYoSod - Dengs s,

DPENS R, 3O, PFOF w50 DB HrESHirgdIen

Options :
Claviceps, Bacillus, Ulothrix, Corvnebacterium, Laminaria

SIDG), rdOS, o (s, §00er§ooHD, erdvIoalr

Ulothrix, Bacillus, Laminaria, Corvnebacterium, Archaebacteria

orey(DE), erRed, erdoIoosr, §00er§ooHd, ) er§dalr

L3

Laminaria, Archaebacteria, Ulothrix, Bacillus, Corvnebacterium

IO, &0, er§basr, oreBs), erded, §69er§60H

Bacillus, Corvnebacterium, Ulothrix, Laminaria, Archaebacteria

erROD, §0er§ooHd, oS (Hs), erdvIdalr, 8)er§dosr

Question Number : 3 Question Id : 4557344803 Question Type : MCQ Display Question Number : Yes Single Line Question Option

: No Option Orientation : Vertical
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Study the following statements

1. Branched chain of proteins are present in membranes of Archebacteria

11.  Histones are absent in Noctiluca chromosomes
1. Asexual spores of diatoms are Auxospores
. In Nostoc chromatin 1s present in centroplasm
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Choose the correct answer

HOGHS HEFGH0
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Question Number : 4 Question Id : 4557344804 Question Type : MCQ Display Question Number : Yes Single Line Question Option

No Option Orientation : Vertical

Identify correct answer with reference to life cycle of Algae given above

R3BS IS0 BISSE HLSVE H00H0NS JHBFS SJrTHSNOK HYoEHM
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It 1s haplo-diplontic life cycle of Laminaria
erIBaLr S0 ﬁé-dﬂgoﬁ&%é‘sé ZHSBES05 JoedohHdd

Sporophyte 1s dependent on Gametophyte
Do HetsSnD &»g@acsm STEHRHHB

(1

Sporophyte and Gametophyte are independent
S0 DS 08050 dEhHedSn Sgfogornr EJosKod

It represents life cycle of Fucus
Frgsd 2ISBESND HrH0SHB

Question Number : 5 Question Id : 4557344805 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Fruits with Papery mesocarp. Cartilagenous endocarp and undifferentiated endocarp are
respectively

s*Ado Hods éadgée_aéasz:ﬁo, ﬁégm N 20d1308S58S50 50030 IPES E0H0D
081008300 $§OAS DeTre) A

Options :

Citrus, Apple. Guava

VN, BDS, a7

Citrus. Cucumber. Grapes
o, Sadooeb, | °8

-2

Apple. Cucumber, Tomato
DS, 5o5oas, ¢SSt

Cucumber, Citrus. Apple
Sosooalb, DGR, snS

Question Number : 6 Question Id : 4557344806 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

collegedunia

—



Centripetal. Aacropetal and urregular arrangement of sessile flowers are seen in the
inflerescences of these plants respectively

SoTrdardo, ordrdo 0% IS ESoS0S® @0 Godd Josdrd Hamen S
QNDTgTen §OS I e I

Options :
Tridax. Musa and Ficus

@@5‘), 55331'5@ 0003 W

Achvranthus. Cocos and Leucas
LYoo, §5% SBos» ergED

L-a

Carrot, Colacasia and Euphorbia
505, Sodhotr $0050 v ol

Hamelia, Crotalaria and Solanum
0D, S8air 08050 dreran

Question Number : 7 Question Id : 4557344807 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

The steps to be practiced for artificial hybrization in two female parents having unisexual
and bisexual flowers

2ED0r HBas0 Hgdor Haryen Ke Bod @:; 208 ©S* EYSN0 D080 BEHYLE BoHIOLS
21§ 0%en

Unisexual flowers Bisexual flowers
ED0NE Haryen &eOorE Daryen
Options :
Bagging. Debagging. Emasculation Emasculation. Bagging. Pollination

erAofi, JoHod® S0A §H%L, HHoJEE DHoE, rhof, HoKDH0HE),0
l.
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Bagging. Emasculation. Pollination

eNof, DHoHEGE, HoKB0HY),0

L2

Emasculation. Rebagging. Pollination

DHoEEe, dodhed &BA EH) GowHd,

a’ioﬂdéoéd&o

Bagging. Pollination. Rebagging

erfiof, Ho°KfH058).0, Do
&00 gﬁ)ﬂ‘) SO

Bagging. Rebagging. Pollination
efofl, Sohed B £\ &oHdd

Ot

o

mﬁéoadbo

eA

Emasculation. Rebagging. Bagging
DHovEGe, Hoded® SoA Ey
0oL, erAoh

Emasculation. Bagging. Pollination.
Rebagging
Do, erhof, HorKdoHe) o,

Hohed® &BA §2) €0wHdd

Question Number : 8 Question Id : 4557344808 Question Type : MCQ Display Question Number : Yes Single Line Question Option

: No Option Orientation : Vertical
Find the incorrect statements

A) Lower plants shift to sexual method of reproduction just before the onset of adverse

conditions takes place

B) InSouth India. hilly areas transform into blue stretches by the flowering of Agave and

Bamboo

C) Single cell Zygote 1s the vital link that ensures continuty of the species from one

generation to the next

D) InAngiosperms pollen grains are shed at 3-celled stage

20570 @woFed HioHan

A) DY) 668 G oS" viHEre H8YShor 6B Snod Bons HSgSHE
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B) &8 erd883%0 Fodes® sid, Do Haryen Sof Srorden JO5gos™s Srdharon

C) e8860 00 Soxd Sore e HEy JEBHE0E G508 H0205 A8 Hoosng deo

P BWJ0FTH0MT G0LN0H

D) wiEderes® 3 Swro §§5° Hoiidander ddrdeoHston

Options :

1 A.B
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Question Number : 9 Question Id : 4557344809 Question Type : MCQ Display Question Number : Yes Single Line Question Option

: No Option Orientation : Vertical

Identify the correct sequence of events that occuar during development of Embryosac

a) Reduction division b) Embryosac
¢) Nucellus d) Lineartetrad
e) Megaspore mother cell f)  Functional Megaspore

g) Mitotic divisions

DoK' F0 ©HIRS® EIVOB HIE BoT O SBGDOS ES0SIND HYoSM

a) BoH88e DEFed b) 5Hod§FSn
c) womod: Seredn d) 3TPadH Shyo
e) o DEde Srdygo f) @oSrg)s Sro Dgdezo

g) Sdodegfesen

Options :
, e.c.a.d.f.gb

¢c.eadfghb
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Question Number : 10 Question Id : 4557344810 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Mention the ploidy of parthenogenetic embryo. parthenocarpic fruit and apomictic seeds

i1 series
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Question Number : 11 Question Id : 4557344811 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Find the correct floral from the given floral description

Bracteate. ebracteolate. pentamerous. bisexual. actinomorphic: sepals 5. polysepalous.
unbricate aestivation: petals 5. gamopetalous. twisted aestivation. stamens 5, epipetalous:
pentacarpellary syncarpus. superior ovary with axile placentation,

508 RgIBS Yal) HES STom S0GDS YA DOSSESNH MH0HSH
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Question Number : 12 Question Id : 4557344812 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Match the following

List-1 List-1I List - III
A) Interphase 1) Synapsed homologous I) Twosequential cycles
Chromosomes
B) Meiosis 11) Crossing over I) Exchange of genetic material
C) Bivalant 111) Single cycle of DNA II) 95% of cell cycle
Replication duration
D) Recombinase 1v) Between two M-phases IV) Zygotene

808 €30 238580

rdear -1 erde - 11 erd)a - 111
A) Slel:le 1) ©0BE g SoTS BohS I) Bok ESrdones
Dderd (R (ST en
B) 05880 DHfed 1) JQSaSHHw ) esgdarg So0yd edord
C) B5BodS iii) D85§0$H DNA H&8)S 1) 95% &5 s°erS6
D) 850038 iv) Do M S8 So¢g &% IV) 8583

The correct answer 1s

HOGH BSTTBHEN

Options :
A B C D

NS 11 G115 G A N 118
A B i D

.7 S B LIV
A B C D

. 11, 111 1. 11 1. I w. IV
A B & D

. 1w, IIT 1. 11 1. IV 11, I

Question Number : 13 Question Id : 4557344813 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Choose the correct statement

A)
B)
C)
D)

w

A)
B)
C)
D)

Mesosomes are exterior extensions of plasma membrane outside the cell

In prokaryotic cells filamentous extensions of cell walls are called flagella

The membrane of erythrocyte has nearly 70% protein and 20% lipds

The Mitochondria. Chloroplast and peroxisomes are not co-ordinated with

endomembrane system

20GHS wodo amﬁmm
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Question Number : 14 Question Id : 4557344814 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct statements

Inulin 1s a polymer of glucose

Cellulose does not contain complex helices

Starch 1s a polymer with helical secondary structure
Store house of energy in animal tissue 1s glycogen
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Question Number : 15 Question Id : 4557344815 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arrange the following four levels of protein structures - Primary. Secondary, Tertiary and
quaternary i a correct match

I  Primary structure First terminal — C
Last terminal — N 1 Polypeptide
II. Secondarystructure Righthanded 1 Polypeptide
Helic polypeptide

M. Tertiary structure Long chain folded like a ball 2 Polypeptides

IV. Quatenary structure  Protein subunits present More than one
Polypeptides

804 RScIBS Trenih FFone @45 Qo770 PEMNE, BIB0D, HHEBoD, S35 Jomsrod
20 o1 77 oD

L  @@ns domo 20EEES - C 1 3"%'31"‘3_}‘_335
=nb8S — N
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Choose the correct combination
HODH BETTHB0D IBYE BB
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Question Number : 16 Question Id : 4557344816 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Functions not associated with peroxysomes

1.  Convertion of stored lipids to carbohydrates
11.  Catabolism of fatty acids

111.  Involve in photophosphorylation

v.  Production of Hydrogen peroxide

v.  Synthesis of phospholipids

PofFSno Ho20FSNBI oD KBowSHHM
1. Deg &8 OHESH 56 ir@loeonr Sre
= & i 5 Ty oy oL
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The correct answer 1s
5BGH HITTEBN

Options :
1. 111. 1V
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Question Number : 17 Question Id : 4557344817 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Choose the functions of Cytoskeleton
I Formation of cell plate during cell division

II. Mechanical support

O Cell motility
IV. Intercellular transport

§29 wRH02dHN DHOD P& HoS0

L Seodegfmd $H0o%0s* Sdeso I Eb
I oSrol&s =sprdadm
IO Sadeso
IV.
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The correct answer 18
5B BETTHSN

Options :
| LI

, ILIV
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Question Number : 18 Question Id : 4557344818 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Grasses get regenerated even after grazed by herbivores

Reason (R): In grasses meristems are present in between mature tissues.

D3 yfo (A): TP rdod FoHadSD)Es KEB0H o 86A HSHEE Boderon
576200 (R): G e7Hos® H008 Bodd Serore DGgs” derag Snerared 4ok

Options :
(A) and (R) are true and (R) 1s the correct explanation of (A).

(A) 300051 (R) e 383308, 58081 (R) 20088 (A) & 3080308 HS8
¥:
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(A) and (R) are true but (R) is not the correct explanation of (A).
(A) 08050 (R) 0 Bodor $8385D, 570 (R) @558 (A) 8 505308 D38 5765

|

(A) 1s true. but (R) is false.

(A) 58358, 50 (R) 505056 5260,
3.

(A) 1s false. but (R) 1s true.
g (A) 30638 570, 520 (R) 3850858

Question Number : 19 Question Id : 4557344819 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify c. d
c. d o KHBoHd»

Options :
Sieve pore. Phloem Parenchyma

; Toddoldo, A SoydEwareo

Phloem Parenchyma. Companion cell

% 2413 maciaégaea‘ﬂoo, Jer8mo0

| ]

Companion cell. Sieve tube

;. SrE0, SOOI 0
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Sieve pore, Sieve tube

i TOA8050, TOAT 0

Question Number : 20 Question Id : 4557344820 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : The stability of coupled system formed by climate and natural ecosystems
1s an important ecosystem services

Reason (R):  Natural ecosystems prevent overheating of the earth by removing more of
the green house gases from atmosphere

Ao (A): 38°Q é&?géjm, JTBOGII L858 égégu S 36&&5 QOGS e
5620 Ig5Y Howod DI SnPgFSs

s*8w0 (R) : DT e0F 850 Hg5Pe, Frdd wHE GRPEB S HFH0T JBY D (TS
OV TEDT0 HoD) STOAN0H

Options :
(A) and (R) are true and (R) 1s the correct explanation of (A)

1 (A) S0803» (R) &0 3850850, 308050 (R) @558 (A) 8o 385338 DG

(A) and (R) are true but (R) 1s not the correct explanation of (A)
(A) 08051 (R) @0 386089, 570 (R) @038 (A) 8 38508 D380 5265
.

(A) 1s true. but (R) 1s false
(A) 583358, 520 (R) S0G058 56
3

(A) 1s false. but (R) is true

(A) 50G0858 57, 570 (R) 305056
4

Question Number : 21 Question Id : 4557344821 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Find the correct answer

HOGIS DETEEE) EHMBHBH
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Water movement is against concentration gradient in Imbibition

DFSEES”®, W Fos55n B mEe HIasE SgEOEHFS” 2D

Addition of solute particles to a solution enhances water potential

P08 PS5 L widbonr 35&5’33’2}&‘5} 5.)65%‘5&9 3B Do

LJ

Rate of osmosis depends on both the pressure gradient and concentration gradient

DES S8 0050 MmES HIndoDn (BarHIsne o BFEHBE

Pressure potential 1s negative in sieve tubes

TOASTTOS* HES ¥8)0 20029750 € OEID

Question Number : 22 Question Id : 4557344822 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Select the correct answer

eAn

BN JBFTIEN EHFBIS0

Options :
Absorbed Nitrogen 1s accumulated by the plants in the form of Ammonium ions

308 e, FA0DS JHFE2IV ©ITO0Sr Losrde ErHos” Jog ot

In free living conditions nitrogenase 1s not operational in Rhozobium

e 238 HOYHoS’, JF'H0H0ST JEEIE HIVOHE

-2

Nodules of soyabean export the fixed nitrogen as amides
PFOITDEN G TEDO0 TS SF2IY ePEO rHoS” IHHE B0

Amuino group of Aspertic acid is replaced by hydroxyl group to form asparagine
9185 ©5065° ) @S HB0E0N0, TES) HSNToHNIND Skt $& sB\0S
RINAES

Question Number : 23 Question Id : 4557344823 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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CO, +H,0——H,CO,

Number of H,CO; molecules released in the above reaction in the Absence and presence
of Carbonic anhydrase enzyme respectively

‘c02+H20_>H3c03 D FdgeS” 508 oI T @EE ISBD BEHYE 500050
&5)ayd dddeddy HyCO; wmnde Sopg 635

Options :

2000 / hr and 6.00.000 / hr
2000 / Kon S8030n 6.00.000 / Ko

2000 / hr and 60.000 / hr
2000 / don H:803%30 60.000 / Ko

13

200 /s and 60.000 / s
200 /7 H803%» 60.000 / 885

200 / hr and 6.00.000/ s
200 / Kon 80351 6.00.000 / 285

Question Number : 24 Question Id : 4557344824 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Functions of lamellae of grana and stroma lamellae of chloroplast during photo
phosphorylation

§5° QS D HOsoTHO Segren S00a8n 588 HLdEen 5708 3*:%356;’15 §°5% 281
Qe

Options :

Bothrelease NADPH, and ATP
| 00t NADPH, $0a5n ATP od e DO%0ES

Former releases NADPH, and ATP. later splits water
30065838 NADPH, 58050 ATP 0% Db 51, 80856 A8 HBEaQ) Bosnb

A

-
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Former splits water, later produce ATP
, S0G8B A8 DFHESY) T, BodSs ATP &8)§ Basnd

Both splits water and release ATP

) Bodr O HBES0 So8asn ATP D BOH B0

Question Number : 25 Question Id : 4557344825 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The ratio of NADP. H,O and electrons required to evolve 40, molecules through
photophosphorylation are

5°08 FTNOBAIS® 40, wenHen kb wHLE ©538585 NADP. H)O Ho8asn
JOEFTRY NS

Options :
1 1 57

L3
[—
]
=S

£
a—
B
o0

Question Number : 26 Question Id : 4557344826 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Number of compounds with C, and C, intermediate substances appear in TCA cycle, when
one glucose molecule oxidized through respiration

TEHE00ES* 2.8 K80 weond) wsd BobIHYE TCA SooHoes® §0HoB CpSrdasn Cy
é}dgmé 5‘55"050 z:’:roa;g

Options :

i Jul

2. 10

12

;1.6
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Question Number : 27 Question Id : 4557344827 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In 138 hours of time. two leaves A and B with 5 cm? and 50 ¢cm? of size show absolute

increase to 10 cm? and 55 cm? respectively. Then the leaf which shows highest relative
growth rate 1s

138 oty $g356° 5 em?® H803» 50 cm? HBSrmo Ko A 538050 B Higren 10 cm’
538030 55 em? 53 £)) H0S37eoeS” 0o, HBS® ©§E FnE VDL S
B0

Options :

only A
i A S

only B
B S

L-2

Both A & B do not show difference in relative growth rate
, A-B o8 dhGest S B

Both A & B do not show difference in absolute growth
’ A. B 585 i sees® 08 8

Question Number : 28 Question Id : 4557344828 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Functions not induced by Cytokinins

1.  Production of leaves 1.  Production of chloroplasts
ui.  Nutrient mobilisation iv. Leaf senescence
v.  Xylem differentiation vi. Synthesis of Carotenoids

B0 (230H0owsED DHefren

i HEen 6k . oS00 &8
1. Ao Sarcoe v. HE >g8go

V. O°0% IBSS Vi. 36'8Trond S03h
Options :

;111,111
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V. V. V1
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11 IV.V

11, 1V, V1

Question Number : 29 Question Id : 4557344829 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify incorrect statements

1.  Chlorobium cannot utilize radiant energy

1.  Nitrosomonas derives energy from sunlight

1. Rhodospirillum derives carbon from carbondioxide

iv.  Bdellovibrio bacteriovorius grows as a parasite on some harmful viruses

D057 PO $H80wHHN
1.  §'6°DaDo D86 ¥8D, IVDTNoDHEBED
1. JEFIrT R 5708 SHodk 8D ok

. §'@"R)09D, 86 E80H 58S B8)A ool erowsHdd

V. BSIOHAr er§OTrsdD §Q) FOEEDS 6B ¢ HoHEIT DEHK

f

Options :
| i i

i, i, i

L-2

1. 11, 111, 1V

Les

me

Question Number : 30 Question Id : 4557344830 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

HIV belongs to the Genus

HIV & He&8 3o

Options :
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Hunnivirus

:p@adﬁ
[ - -

Lentivirus

S0&36

(1

Lolavirus

S5t 38N
[ - -

Vitrivirus

DEBES

Question Number : 31 Question Id : 4557344831 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Identify incorrect statement with reference to hybridisation experiment in Lentil

BoeISeS® 280N Do8dn PArMoS Sowodod) H050 T {D§

Options :

Genotypic ratio of F, generation is identical to that of the ratio of Mendel monohybrid

Cross

Fp €652 285 08, 2odS 85080 AQEI FO €56

Law of dominance is not applicable to F; generation

Fi 0708 aerddds Dpodhn H50u58

12

Neither of the alleles are expressed in F; hybrids
F; do8orees® Boh SMMELO Y 5’)5_%5601533556653

Both alleles are expressed independently in F; hybrids
F) So8070&5" Body cdnifdsemyen Sgfogornr $58880uSadamon

Question Number : 32 Question Id : 4557344832 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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The character of RNA 1s

RNA % S02050808 o800

Options :
Mutate at faster rate

Sforr &E0SES Dotk

Non catalytic
&(@)5850 57

-2

Thymine 1s present at the place of uracil

oo ﬁ;éoeﬁ‘ SO S0

RNA 1s chemically less reactive and structurally more stable when compared to DNA
RNA & DNA & asa&ss:gm Srosr08om ééogfé ﬁc*géésom, &)oﬂéea*éésom LIRS

?\35@5@ 0N &0

Question Number : 33 Question Id : 4557344833 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
Role of E.coli n replication of DNA 1is
1.  Semiconservative replication was proved first
1.  Polymerises approximately 2000 bp per second

1.  Replication time 1s 38 minutes
iv. Lengthof DNA is 6.6 » 10° bp

DNA $&88¢5" .58 (¢

1. ©F308ES B85S oo Tkl wnerd) BoRdedSH
1. H0°R0 ES0% 2000 bp 05 HoEEGno Bohdrdn
1. B85S JHodo 38 ddnaren

iv. DNA &4 6.6 x 10° bp ex

The correct answer 18

QOGS BTN

[ —

Options :
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Question Number : 34 Question Id : 4557344834 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the incorrect statement

P05 JaArFHand 80w

Options :
Factory of protein synthesis 1s ribosome

@483 H0dN0E LIS §8o7 o Ve D

Cell contain 64 types of tRNAs
Eooren) 64 st tRNA o5 808 Godron

L2

Because. of nucleotide 2'-OH group RNA 1s easily degradable
RNA Hoogor Eddso DBoderds 52600, ©0@Sd B8 Srgdrdhe” &)
2'-OH 330 mrasamn

Deoxyribonucleoside triphosphates provide energy for DNA polymerisation

& 8PS ErERrDE BT HoEsad LSS 8D ogo Saon

Question Number : 35 Question Id : 4557344835 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Key tools of r-DNA technology are
I Molecular scissors

II. PBR322

M. Genegun

IV. Bioreactor

Jdodras DNA rosas DEEE THOVS PTIS FPTen
L =msd8en
L P*322

M £3 8

V. 23&r005rg6

4 ILII

Question Number : 36 Question Id : 4557344836 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Genetically transformed host cells can be selected by

1.  Antibiotic resistant genes

ii.  Radioactive ds DNA having complementarity to the whole length of desired DNA
ii. Coding sequence of B-galactosidase

iv.  Radioactive ss DNA having complementarity to at least one part of desired DNA
v.  Radioactive ds RNA having complementarity to the whole length of desire DNA

280gH0588 ©&Foxn S S600 BAHEHD

1. 0820538 JFEES EDS adogHhen

ii. J0500% DNA Jndo dHa Sodrdsomr ok 'fﬁécﬁrmﬁég ds DNA
iil. B-rofHEd SosSESsn

V. 000 DNA &°9 2.8 ermdBs Sodrdsont &od 38D ss DNA
V.  arogwoH DNA 3ngo ddHs Soirdsor 40l 083r5r0)8 ds RNA

collegedunia

—

Options :



—
P
M
=t
[
»
-~

1

L2
e
—_
»
ey
pa—
e
-
<

ttttt

(W)
5
=
—
<

Question Number : 37 Question Id : 4557344837 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

RNA mterference (RNA1) is a mechanism that

RNA $g&8620 (RNA1) Horsboes”®

Options :
Prevents translation of specific mRNA

983 mRNA efardo D5 6osatSn

Prevents transcription of mRNA
MRNA 580550 8808585

12

Prevents replication of DNA
DNA 888 26" dodetod

S1RNA produced by ds RNA. cuts DNA 1nto pieces
ds RNA 3 &\ BaaaS Si RNA. DNA % podeenm §800:58

Question Number : 38 Question Id : 4557344838 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Excellent biocontrol agents to treat ecologically sensitive areas

DNETH w58 HBE HELS® FADS £5Dchogn Jirsdien

a

Options :
Nucleopolvhedrovirus

1 Srg8rrd @ O
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Trichoderma

Bac

=
&%)

Ao

F8°Goy

illus thuringiensis

O J0&0DAD

spirillum

" V)0YD
NIVE

Question Number : 39 Question Id : 4557344839 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Micr
L

IL
L
IV.

obes not used in house hold products
Trichoderma polvsporum
Rhizobium

Closteridium butviicum
Propionibacterium shrmanii

KR8 Gddhos® IIBrAoS) SrgiRHen

L
I
118
V.

Options :

1

-2

IV

LIL

LIV

—

».-,E.

TEBoy FOFEH

B HoHo

g@éaﬁo 205¢3980
(@F@rIer§ooho 36503

I

ILIV

Question Number : 40 Question Id : 4557344840 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

-

el

collegedunia:

India’s largest Student Review Platform



Biofortified vegetable crops released by IARI
Vitamun ‘A’ enriched bathua and Tomato
Vitanun ‘C’ enriched Carrot and Spinach

Iron and Calcium enriched Spinach and bathua

/AR

Protein enriched French bean and garden peas

IARI 3 980 RoHardhs ajcﬁra’:}‘g":‘gﬁ Sr8mod Hodren

L DL ‘A Pam &8 1, ¢ Srest
I 2L»S ‘C’ YT &&) 57685, VYT
I 98:08m, 5*-'%0:530 323 &f‘ﬂg ?ogmﬁ., 206808
IV. @83 D™ &3 @oSHY, &L 2drd
Options :
LIV
, LI
3 ILIV
, ILII
Zoology
Number of Questions: 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 41 Question Id : 4557344841 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Specific endangered species are protected in sanctuaries
Reason (R):  Protection of animals in their natural habitats 1s called in-situ conservation

A3&o (A): ©0S80VIBOY) E}ga; 2oy erdredy Hodfod |@ro@ren DG
weoirdeargen
s*d=0 (R) : 20JoH 78 STre soTres” Jo68odEa) ST ?;::3 D088 wodtrd
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Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

| (A) 58050 (R) en Bodr 38550 $0a3» (R) @38 (A) & H08508 HBG=

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
, (A) 556050 (R) &0 Bodr $066085d 570 (R) @38 (A) § 38508 D8 576

(A) 1s correct but (R) 1s not correct

, (A) 505088 50 (R) $0GH56 565

(A) 1s not correct but (R) 1s correct

, (850388 56 50 (R) 50058

Question Number : 42 Question Id : 4557344842 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following statements regarding tissues

A) Basophils constitute least percentage of total granulocytes
B) Muscles attached to hair-follicle in skin are striated muscles
C) Os cordis 1s an endochondral bone

D) Mucous connective tissue is present in umbilical cord

Scoarero’d H0205H00 & Bob soTed wigoHhdo Bood

A) B dngo §85y Swrres” o8 S5 S £E05° dodron
B) $56)065° 55Hr)iisess «&8 &0dd 3PS Sodoren

C) =9 500 a8 Jods oS JB508

D) %Y dodrzs Swwreo o9 SpHS’ &otnod

Choose the incorrect statements from above

» 785" 30570 wozrod KHfododk

Options :

| A&C
, C&D

;s B&C
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Question Number : 43 Question Id : 4557344843 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Echinoderms show pentamerous radial symmetry

Reason (R):  Animals with radial symmetry respond equally to stimuli that arrive from
all directions

Q3yEo (A): aﬂ@_ﬁ‘cﬁc‘%@a D0WDET RI0 Wr)@ow
5800 (R) : Seoh TR0 Srw dHon w) HFe SHod) IBy 08 B30T

Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

1 (A) 8050 (R) &0 Bodr 58535 H8as» (R) @38 (A) 8 50508 HSG=

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) 508050 (R) 0 Bodr $506630&5d 570 (R) @38 (A) § 5058 DB 52

(A) 1s correct but (R) is not correct

| (4)50@:80 50 (R) 50056 5765

(A) 1s not correct but (R) 1s correct

(A) 585058 5°% 59 (R) HOG0S6

4

Question Number : 44 Question Id : 4557344844 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

gcollegeduniaa

—



Study the following statements

A) Cloacal respiration and two jawed pedicellariae are characteristic to sea cucumbers
B) Epidermal cells of Dugesia have rhabdites

C) Colloblasts help in food capture in Pleurobrachia

D) Maxillae are modified into gnathochilarium in Scolopendra

8od woweod wfgohdo Foosk

A) 230 FHHEN, Sodd ddde iaé?a@@o:ﬁoom JJNE 57000 HPS oFcoren
B) &Ondolr Birsocgoss* oegontien &oron

C) &rofersoirs” e ergen o) HNEIEIE GHRriHEe o

D) &9 D0o@es" 2ofsen draroddo Bod IFSDH0H05 IGYETz0»

Choose the correct statements from above
D 783S° SB8GS oo KHBodod

Options :

| A&B
, B&C
; B&D

L A&C

Question Number : 45 Question Id : 4557344845 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Match the following
Animal Character
A) Neomania
B) Dentalium
C) Neopilina
D) Nautilus

Single shell plate
Two pairs of ctenidia

Cuticle with spicules

S88°

Captacula
V) Crystaline style

18086 80 28580

2003 e §£9330)
A)  ddaArDHOalr D) 28 s 868 Hoso
B) &oéroabo II) DBo zde Sosgromren
O JddBrH8o° ) Sobsens) wderad
D) odeoo IV) sarsoger

V) )38 dodko

The correct answer is

gﬁ@)é DT TS0

o
¥ B @ ¥

A H B D

0 11 S | G \ A
A B ¢ D

+ 1 BN ¥

LI IV

Question Number : 46 Question Id : 4557344846 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Study the following and choose the correct combinations

S.No. Group Character Example
I Tunicata Biolumiscense Pvrosoma
I Osteichthys Pelvic fins with claspers Echeneis
I Mammalia Six cervical vertebrae Bradvpus
IV Caecilians Amphicoelous vetebrae Ichthvophis
Bob T80 w@gonso BH 95 DEDoHes MHoSod
2.00. QIO ©E0 GO0
I GRS 253508% RO
I %%gf Q08) o end) WL
F°8 areren
I §8oen s |HSEIHsen (e RS
I\Y HODoHIn | &eoHHd FdsTen REBrHS
Options :
y LII
, ILIII
; ILIV
LIV

Question Number : 47 Question Id : 4557344847 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

—

collegedunia:

India’s largest Student Review Platform



Which of the following characters are found in Ratitae
I) Males with penis

) Sternum with keel

II) Absence of clavicle

IV) Presence of syrynx

V) Discontinuous distribution

o838 HPeS® ED0D oFen
) S HHes Hso

M SSosws &6

) aEHhsen S Howdo

IV) #8939 £9a &odbo

-2
-
=
<

Question Number : 48 Question Id : 4557344848 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Match the following

List-1 List-1II
Animal No. of fagellae
A) Giardia I) Many
B) Tivpanosoma M) 3 pairs
C) Tirichomonas II) 4 paws
D) TIrichonvmpha IV) Four
V) Single
8086 7830 28w
erde - | ZFde - 11
200 ST J0Pg
A)  a2afrgosir ) oJI8S5»
B) (33575 M) 3 aden
C) @5“5)‘@5 M) 4 aden
D) @5"@03 IV) sceomd
V) 288

The correct answer 18

HOGHS DSTTEEN

Options :
A B € D
m v Y 1

2

A B € D

-2

A B € D
I V IV I
A B C D
,I I IV I

Question Number : 49 Question Id : 4557344849 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
gcollegedumaa
India’s largest Student Review Platform

—



Study the following statements regarding drugs

A) Benzodiazepines are used as painkillers

B) Smack slows down the body functions

C) The opioid drug obtained from poppy plant atfects cardiovascular system
D) Crack interferes with transport of dopamine

Srig@argesy Bobd §od worod s@gahso BoHod

A) BoFESTrEDYS PP a8 IJBFATE

B) &8 06 S6god 35065008

C) Sodofh I Soo0d NEBONS L9056 o TR0 PS5 égé;g"gg 22”20
508

D) 5 &3S Sareerss® #8850 Do olnod

Choose the incorrect statements from above

D 835" H05°Q wozren HBodSod

Options :

. AD
, B.C

3 A.C

, B.D

Question Number : 50 Question Id : 4557344850 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Match the following
List-1 List-1I

A) Neoplasia I) Increase in number of cells
B) Hyperplasia I) Degeneration of gonads of host
C) Hypertrophy IM) Increase in the size of the host
D) Parasitic castration IV) Formation of a new structure in host tissue
V) Abnormal increase in volume of host cell
508 7830 2800
erde - 1 erdee =11
A) dFrFHOST D Swro Sopg dH0Hom N0
B) GrdSarbosr ) 830 Hufere S0
C) a6 ) es&3Pon HB3r@0 DEKL0
D) 30528 s@QAS IV) =830» Samreds’ §¢ Jommren J8)Et0

V) =&830» e H0Sr00 dH8Sorr K0

A B € D
W ¥ T W

'
to
A

H O

sl W ¥
A B £ D
sl ¥ OV @
A B C D
LY W W

Question Number : 51 Question Id : 4557344851 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Assertion (A) : Ring worm 1s a fungal disease
Reason (R):  The mode of infection is by inoculation

Q3o (A): 500 2.8 3008 agH
580 (R): & g 2B AD J0 JoEDH0k

Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
: (A) 5o8a%n (R) en Do $85308D So8os» (R) 238 (A) % S oles VIR ol

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
' (A) 508050 (R) &0 Bodr 58305 520 (R) =38 (A) § 38FS IS8 5260

(A) 1s correct but (R) is not correct

: (A) 3830058 5°Q (R) S0F0&58 5765

(A) 1s not correct but (R) 1s correct

, (A) 803086 s 0 (R) 365056

Question Number : 52 Question Id : 4557344852 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The following are types of parasites
I) Intracellular

) Coelozoic

OI) Intercellular

IV) Hyperparasite

& 806D HTPY) BYO S57ew
I) éwoé‘g D0°Y) B)en
I) %56 Ho08) dHhen
) Scrodd Hovw) Ben
V) 6308 2hen

Which of the above are correct regarding Nosema notabilis?

D TS TRSr SErddS J Ssro Bodrdod?
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Options :

, &l

LIV

13

s ILTI

, LIV

Question Number : 53 Question Id : 4557344853 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The sense organs present on proximal parts of tibia in Cockroach are sensitive to

=,

508 sPen BwE), BHSTrD God Iromren JBI HEITToN

—

Options :
Sound vibrations

1 G0 (D80DSN

Taste

-2
X
L
o~
)

Movement of flagellae of antennae

Ef,gﬁﬂ%\omﬂ Saeee) 058

a

L

Ground vibrations

g 12800880

Question Number : 54 Question Id : 4557344854 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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The following are the ganglia of autonomous nervous system of Cockroach
I)  Proventricular ganglion
II) Frontal ganglion

II) Ingluvial ganglion
IV) Occipital ganglion

008 H00F'0 TG SEERS* $0d TG Horen §ol aBgREZoN
D $Irdg Hohondds 36 H508

) eoess T8 H08

o) R0AETHHNS TG H0H

IV) elid>e 8 308

Arrange them in sequence from anterior part
DE3 J0¢ 2710 D0G DEIJ Edoe5* ©08)0a

Options :

ILLILIV

IV.ILTILI

L2

, ILILIVI

4 ILIV.IILI

Question Number : 55 Question Id : 4557344855 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Algal blooms are formed m fresh water bodies
Reason(R):  Eutrophication

D& Eo (A): B Soxden $H0DAEB awerdosre’ J6ydEeron
58200 (R) : O3B AR

Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

; (A) 58050 (R) &0 Bodr $8G05D 58050 (R) @38 (A) & 28508 HSGe
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3

4

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) 58050 (R) @0 Bodr H86050 500 (R) @36 (A) § 303S JS80 576

(A) 1s correct but (R) 1s not correct

(A) 385358 570 (R) $05056 576

(A) 1s not correct but (R) 1s correct

(A) 58356 560 50 (R) H0B056

Question Number : 56 Question Id : 4557344856 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following statements
I)  Montreal protocol is aimed at the safe disposal of radio active wastes
I) The association of honey bee and orchid flower is commensalism

I) At high altitude the red blood cell production increases in man to compensate low
oxygen availability
IV) The pyramid of biomass in sea 1s inverted

§0d woren wigohlo Bobhodk
) JBaDrmoE Sgge NS FERS Srodohs F'sS oggo
I) 3384, s0,8 HAYo Gy wodd SowoFo Hireessco

) 2€o08 L}.’)Eﬁ@"ej: $50). & sHiEd 0dfd SrdYHS” PO Sworo Sopg DERE0 SO
8 ©wHLHod

IV) &680e5°0 2555078 HEDE So8otHenm &otnod

Correct statements among the above are

2 565 (B &;’5& QOFTEN)

—

Options :

1

L2

LII
II.IV
IL 1M

LIV
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Question Number : 57 Question Id : 4557344857 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Match the following

Animal Adaptation
A) Seals I) Saltelimination by nasal secretions
B) Seagulls I1) Metabolic water
C) Kangaroo Rat IIT) Blubber
D) Turtles IV) Glomerular Kidney

V) Salt elimination by tears

808 780 28585 Hdn

20800 ©HErOSIM
A) DS ) &b @oo oo odn DIYS

B) » A
C) Somd Jens

25805 A

2end
™ B

288

D) e#g s§sdores By SorEHoES»

V) §E"‘l‘;‘:lé5 oo° ol IDGS

The correct answer 1s

é@g_’:ﬁaé SNSRI ARSI DS

Options :
a2 B £ B
I V NV I

1.

= >
-
H
< O

L d WY
A B C D
JE I ™ &

Question Number : 58 Question Id : 4557344858 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
gcollegedumaa
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Which of the following factors favour faster decomposition of detritus?

& 808 J 57650 I BBLD K80 Bew o €0enod?

Options :
Lignin and moist environment

OGS, B &F) HdHTen

Nitrogen and anaerobic environment

e, oo B30T

L2

Nitrogen and sugars

S@eq, S8 5o

Chitin and Lignin
389, ONHS

Question Number : 59 Question Id : 4557344859 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following model of Nitrogen cycle

Atmospheric N,
@y TO
Nitrates

©T 1®

Decaying biomass

Identify the concerned bacterium in step (d)

& $08 JPed OO0 JHNTT ) WELAIIN0 20508

wwéﬁwéw@‘a N,
@), 1@

S@8en

©T 1®

Soesi) & (555078

5% (d) % $0e050DS e2§80508> MHBoSM
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Options :
Nitrosomonas

T IrT°0

Nitrobacter

J5ergs

12

Nitrosococciis
g@j“‘af}fg‘s’ )

Thiobacillus

Fareraed

Question Number : 60 Question Id : 4557344860 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following and choose parts related to larynx
A) Rimaglottidis

B) Turbinals

C) Cartilages of Santrim

D) Adam’sapple

E) Soft palate

§od T8S* HEHBEH BohS ermeos Howsod
A) BSTTHAT

B) &85

C) #0oé&8 a’naa,tﬁjem’agm

D) =déa)) =HS

E) &S0y =0dd

Options :

L A.C.D
, B.D.E

L A.C.E
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Question Number : 61 Question Id : 4557344861 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following respiratory volumes (722/) [Based on maximum values]
I) Inspiratory reserve volume

II) Tidal volume

IM) Inspiratory capacity

IV) Residual volume

V) Expiratory reserve volume

§od RBBS 7208 PoSHBSTeTren (1)) wigoinso BohHod [K07 Fron Jenden wgrdor]

-

I ﬁww\mé Dend NSHBST0
) BES arergm

1) ﬁﬁ:}gé maﬁaggo

IV) #3533 085505700

V) 3¢S0 dend H5H08r00

Arrange them in correct sequence in decreasing order
DB DS ST Eos” v ok
Options :

, IVILILLV

ILLOLIV,V

L2

LILIV.V.I

[ W]

, ILLIV.V.II

Question Number : 62 Question Id : 4557344862 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Identify the part labelled as D in the above diagram of T.S. of human alimentary canal.

20 3BS SrdS sF0Td wd)fS HLos” D Soedodads grmd) Hodod

Options :
Mucosa

%Eﬁg){aﬂdo

P

Serosa

569 H60

L2

Sub mucosa

Muscularis mucosa

Sod3080

Question Number : 63 Question Id : 4557344863 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Study the following statements regarding circulation

A) Atherosclerosis 1s a congestive heart failure

B) The walls of lymph vessels contain smooth muscles

() Ligamentum arteriosum connects systemic and carotid arches

D) Activation of proconvertin results in the formation of prothrombin activator

HdGc08 BodS & Bod wored efguHso BoHod

A) PEYEDHD w36 S5:HEGTYE0H IO

B) #A65 ararse Sodgdn S Sodorod §OA &odnod

C) OXdobo sH0@ra0 s Tard), 860 THod SendHHod
D) (@85¢00 #8245 @@ ods 432505 JHH06

Choose the correct statements from the above

D 783" B8RS wozren HYoSod

Options :

 B.C
2 A.D
3 A.C

i B.D

Question Number : 64 Question Id : 4557344864 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Uric acid 1s produced in mammals by purine metabolism

Reason (R):  Uricase converts uric acid into allantoin in human beings

Q3 %o (A): §stren rgdd AS5EoHS' aHros sIrd) 68 drow
s=d=0 (R) : SrS5HS* drdsE JoBd oHros S ©OOLTONIT SrE0H

Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
| (A) 508050 (R) 0 Dot $8GHED $:0050 (R) @35 (A) & 30508 256w

collegedunia

—



Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
. (A) 58050 (R) &0 Bodr H586085d 570 (R) @38 (A) § S80S DN 575

(A) 1s correct but (R) 1s not correct

] (A) 50030858 5°Q (R) S0G0&5H 5°¢8

(A) 1s not correct but (R) 1s correct

) (A) 383058 5760 5029 (R) S8F0&s

Question Number : 65 Question Id : 4557344865 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the incorrect combinations regarding urine formation

Part of Nephron Selective reabsorption Secretion
A) | Diastal convoluted tubule Facultative reabsorption H*. K"and NHj
of Na”and H,O
B) | Descending limb of Impermeable to
loop of Henle H,O by passive transport electrolytes
C) | Proximal convoluted tubule | H™ and K™ ions H™ and urea
D) | Collecting duct K"and H,O Ammonia and HCO,

Sorgo AR IFEo% BohS Bod wore 3057 8 Kfodod

S8 e g SO H)E SeF 3200 @S0
A) | Sroof HoR598 98 Na™ . H,O 380\8 H&s8" 0| H™. K and NH}
B) ";F@%’ésa’g) w36 98 H,0 ey, 035 Sarco- bd)g&ﬁﬁ?&}&
WarOiadges
C) | dH H0598 98 H™ . K" «ddrd HY, 0S8035
D) | Sofsree a¢0 K™.H,0 w305 S2005»
HCO;,
Options :
 A&C
2 C&D
;3 B&C
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4 A&D

Question Number : 66 Question Id : 4557344866 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following 1s incorrect combination?

& (808 383e5° HB5°D HEDoHD HBoSok.

-

Options :
Scapula-Triangular

BWORPOE0- BN F W0

Sphenoid bone-keystone bone

faségoﬁao-éaé@_é D1 E

12

Hyoid bone - ‘U’ shaped
57088 Qw8 - ‘U ss=ddw

Sacrum-Cup shaped bone

’ 1880 - A]) =55°6) D508

Question Number : 67 Question Id : 4557344867 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A

Identify the part labelled as B in the above diagram of thin filament of a myofibril

25 aaS Sodd Sr§igodh)) HLoS" B e Srdodd grmrd) Hhlosod

Options :
Tropomyosin

| PR
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Troponin
| ETFAS

Actin
D85
3. &

Myosin
4 DODTID

Question Number : 68 Question Id : 4557344868 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following statements

I) Somatotropin and somatostatin are released from hypothalamus and are antagonistic
to each other

M) Cushing’s syndrome is characterised by glucosuria and formation of ketone bodies
IMl) Parathyroid hormone 1s a protein
IV) Catecholamines and cortisol stimulate gluconeogenesis

8od sozen wigoHhdo Babod

D) FErGEras, FSrisdsen TrFerstd Blodnd wEadsEd DG JgerHo
I ) &S00

) #r8'ardosr, §65°S Bifen AGyELo S00R DoES Snpgegaren

M) Sogoond 565 o8 @5

IV)

=i

5°88'0hd, 58S ArFABrAINID 20O

Correct statements are
2 a¢3eS” S8 woFren

Options :

 LIO

LIV

L3

3. LI

LIV
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Question Number : 69 Question Id : 4557344869 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Match the following

List-1 List-1I
A) Anti-Tetanus serum I) Artificial active immunity
B) Cytokines IM) Natural passive immunity
C) Colostrum IM) Artificial passive immunity
D) Tetanus toxoid IV) Natural active immunity

V) Innate immunity

8o 78 2&E58H S0

erde -1 erder - 11
A)  oS5rols BLrsS HES D &es Eosrie 5HAE S8
B) &'8Sen ) 353 SHIGEES
C) Snaren ) 885032 SHAGEES
D) 8&rSS drsnjond IV) Sirz §oirde SHAGEES

V) S5 5°606° 58S

The correct answer 1s

J0GH BEFTHBN
Options :

A B ¢ D
I IV V I

A& B € D
A B O

8 B € D
% o 3

A B C D

Question Number : 70 Question Id : 4557344870 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
gcollegedumaa
India’s largest Student Review Platform

el



The events observed by the end of second month of pregnancy are

ﬁdﬂc‘.?d@aﬁﬁ" 0043 I0 DB6S DokSInS® §0B DoodrSen

Options :
Separation of eye lids

5o Bdyen 285%0

Appearance of hair on head

g Jognden oS0

-2

Development of limbs and digits
5°¢Y), Dedoen, 5% 53

Formation of eye lashes

§:5002) Jonsen JEYEL0

Question Number : 71 Question Id : 4557344871 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Choose the incorrect combinations from the following

SNo.|List-1 List-1I List-I1I
I) |Skene’s glands | Homologous to Cowper’s glands Lubricates vagina
) |Colostrum Presence of Ig A antibodies Protection of new born
from mitial infections
IM) | Hyaluronidase | Released by acrosome Dissolves zona pellucida
IV) |Hypomere Somatic and splanchnic Gives rise to pericardial
mesoderms cavity

808 T&e° $85°0 D¥DoHen INE Bohod

3.200.|=dea -1 Fde -1 erde -1
D) |8 okoen 56 Koghes S-S0 BrIS*HO derd) B84
D08
I |SoE FFew [g A H&B5en 805y Hode SHodk
G 0E0 Jerd 3D G8odbo
Tosrend’ i | JFFo SHod e ' DOTGITED
§8A0HL
IV) [Fr2Fdoosd FSoed§, ryo8E TYEoirSd o)
SogigRcaren DE\GSd
Options :
 ILIV
» LIIO
; LIV
4 ILII

Question Number : 72 Question Id : 4557344872 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Identify the part marked as D in the above diagram

DS adds HLoS® D Srdodeds grmd) MHjowsod

Options :
Amnion

€ N0
1. 2J

Allantois
ST at e Y

L3

Chorion
20030

Yolk sac

FrSd0d)

Question Number : 73 Question Id : 4557344873 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Male ants develop by parthenogenesis
Reason (R):  Male ants produce sperms by mitosis

R Fo (A): Soif Hdven w0 TRor @SB Boderon
s°d200 (R) : SRS HESTen IHYPeS oo S wHheron

Options :
collegedumaa
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Both (A) and (R) are correct and (R) is the correct explanation of (A)
1 (A) $5803» (R) &0 Bodkr 385050 $805n (R) @36 (A) & 508308 DHGed

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
, (A) 328050 (R) 0 Bodr 583305 570 (R) @38 (A) § 38508 D6 5760

(A) 1s correct but (R) 1s not correct

: (A) 580058 57 (R) S0FHH 5765

(A) 1s not correct but (R) 1s correct

, (A) 5050 56 50 (R) 056

Question Number : 74 Question Id : 4557344874 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following statements

A) The alleles for Rh antigen are located on different loci on chromosome 9
B) Three alleles of a single gene express ABO blood types in man

C) The erythroblastosis foetalis 1s caused due to IgM type antibodies

D) Isoagglutinogens are glycolipids

§0d wozol wigoHso DoHodk

A) RhEpé2ssq) AoHoGoB 2goint) Dfomen SIS E'3ra'H 3 308 Food®
& 08701

B) Sr3HDeS° 28 2B 902005008 S oSnrHsomen ABO §855rens> Q98on

C) BESTYOD 2erdd IgM 68H PEBT S0 Sedod

D) offdfrdsesen ES‘@S}@

Choose the incorrect statements from the above

2 88" 50570 worrod Hfodod

Options :

, B&D

, A&B

collegedunia

—



s A&C

4 B&C

Question Number : 75 Question Id : 4557344875 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The X-linked recessive disorder of man 1s

Srses” X-;’f}aiﬁ@f‘im wodgd 33.?335 ﬂﬁ&’}%s"ﬁ

Options :
Tritanopia

@&Sboﬁr

Cystic fibrosis

DV DETOD

12

Sickle-cell anaemia

5 ESO-EodgerSds

Deuteranopia
aSIdaleftsler sy

Question Number : 76 Question Id : 4557344876 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Darwinism considers the cumulative effect of fluctuating variations will
lead to speciation

Reason(R):  Natural selection 1s a driving force of evolution
D3ydo (A): @00S ©5°00 G'o8 IVTge Bodd PHerd POSor £ arden JGyderon
s*&d=0 (R) : 288 2620 200 oo ¥8

Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
1 (A) S080s» (R) e Bodkor 5863050 $0das» (R) ©38 (A) & DBFS DHB=0
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Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
- (A) 58050 (R) o0 Bodr 503050 570 (R @38 (A) § H0G0H DG 5

(A) 1s correct but (R) 1s not correct

| (4) 50830 50 (R) 5036 5765

(A) 1s not correct but (R) 1s correct

) (A) 3833088 5760 577 (R) 383058

Question Number : 77 Question Id : 4557344877 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a population of 1000 individuals 28% are homozygous dominant. 48% are heterozygous
dominant and remaining are recessive. Find out the dominant allelic frequency

1000 2Hen Ao za7ere” 28% SSanMz wirdare, 48% DA wergeren.
DA woddd ofrod &I, ®orodd 257" werdd dnd D80y SIS0
850879 o0&

Options :

| 0.76

0.52

12

Question Number : 78 Question Id : 4557344878 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The desynchronised waves recorded by EEG 1n persons who are tense are

L8Ae° &%) Hdes® EEG $3rd 308 edHdsé ddomen

Options :
Delta waves

1 an; Sdomen
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Thetawaves

5 Her Sdomren

Alpha waves

3.

F_—se_rq} ggomen

Betawaves

p HEr dSomen

Question Number : 79 Question Id : 4557344879 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Match the following
List-1

A) Ovapnm

B) Omega-3-fatty acid

C) Cadhenns

D) C - Peptide

808 T80 28580
i -1

A LT

B) e -3 - I =00

C) s @0

D) C-2j00&

The correct answer 1s

258"

g Be =

V)

List-1I

Membrane proteins

Proinsulin

Reduce cholesterol

Synthetic analogue gonadotropin
releasing agent

Exotoxin

ade - 11

SIS e

2599

§oR0SS $8308

FIEETras Ddes §Y&5 J8rHgo
Q88
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H O
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o I m N

Question Number : 80 Question Id : 4557344880 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
Study the following statements
A) The milk of transgenic cow Rosie contains o-1 antitrypsin
B) Cancer patients are given alpha interferons to destroy tumors
C) Attenuated whole agent vaccines act against typhoid
D) Ifthe apoptosis pathway is damaged the cell dies

808 soroh wgohdo BoHodk
A)  2dg H050E w5, 5D Fos® o-1 oo Ei)sS otnod

B) SmndHodH 3780 Bodos® 57gH)5 §ihodH somy q0L5noIe A
C) oghs 6 §500% 08 @PEIEg TrEnen BFrond agdlardas &HDTrATE

D) @edsagsn Hdm Ho IHOFB S0 HEB08

Choose the correct statements from the above

2a°d365° H0S wozrod MHBodSod

Options :

| A&C

B&D

L2

B&C

4 A&D

Physics
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Number of Questions: 40

Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 4557344881 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If L represents inductance. R represents resistance and Q represents electric charge. then
match the following.

L 880085, RAG G085 508080 Q Dehogd es3¥0 SrdR, € 80d i a8 Hdhadw.

List-1 (ezdHa -1) List-I1 (zrde - 1)
Quantity (o°8) Dimensions (Doshex)
A) ‘QELRE D MI2T3A°
B) LQilfs m MIOTOA!
C) LQTRE m M'2T2A°
D) .Q—f V) MIT?A
The correct answer 1s

SO SETTBED

Options :
A B C D
'V m I I
A 5 D
A T W 2
A B D
, vV I I I
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A B
I I\Y I

iy

4

Question Number : 82 Question Id : 4557344882 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two bodies falling freely under gravity from heights ‘h” and ‘“H’ cover displacements

sh_ 11h | | — |
of 5 and T respectively during last second of their motion. If acceleration due to

. . s | .
gravity1s 10 ms™. then H s

‘h’ oo ‘H' e Hod Hdh&Eo S '?ccsr:‘:t;m BodiB0 B¢EEHd) Todd SN &

5h 11h
2030 OS50 DEHDS® SHHm ? 2DB050 -9—' (ororen (POIr30n. DS #0520

10 ms~2 =003, H Dend

Options :
1 45 m

N 90 m
3 180m

360 m
4

Question Number : 83 Question Id : 4557344883 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : When the range of a projectile is maximum. the maximum height reached
1s 25% of its maximum range.

Reason (R): The maximum height of a projectile i1s proportional to the square of the
velocity of projection.

Do (A): =8 HED80 BwE) arga) HBASHYE, TP K0 I T Tgad 25%

008
s60 (R): 28 @8H80 @ng) #01 & =°d BN 3K 50708 wHhS SrdHFrdos®
€ 0C80.

Options :
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Both (A) and (R) are true and (R) 1s the correct explanation of (A)
, (A). (R) &0 Bodr Sdg50 Sod03n (R). (A) 8 $588 D580

Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
: (A). (R) &0 Bodr Heg0 50 (R). (A) & %88 D580 525

(A) 1s true but (R) 1s false
. (A) Jgd0 572 (R) edefgaion

(A) 1s false but (R) 1s true
4 (A) &850 50 (R) dgs0

Question Number : 84 Question Id : 4557344884 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

A particle moves along a circular path of radius R such that its speed ‘v’ depends upon

distance ‘s’ as per the relation v= a~fs where ‘0’ is a positive constant. Acceleration of

the particle after traversing a distance ‘s’ 1s

R argrdo do Syarsd Srgo Soad SOF) &.8 0dn 5& v Erddn ‘s’ v=o4/s
P800 ©@8HB3d0D a’)J‘d}r:S}EﬁJ&, ’agzrcﬁ o 28 G Doto8o. ‘ST Ardd FoNe

Sl Soadn éﬂgc‘@asﬁn

Options :
> |1 %
Y=
1 4 R
=
"
N
. 4 R
1 s2
a ?'I‘—z
3.
B
5 {1l &
o ;-l-—z
4.
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Option : No Option Orientation : Vertical

with % 1S

Question Number : 85 Question Id : 4557344885 Question Type : MCQ Display Question Number : Yes Single Line Question
s e 8 :
with = . Mass of the sand that should be kept inside the box so that 1t may accelerate downward

When an empty plastic box of mass 8 kg 1s placed deep inside water. the box accelerates up

(g - acceleration due to gravity)

D00k, &8 D

s |

8kg 555078 fio .8 g9 YT 1P A8 STHe S*dm GoDIBYE ©b

g
— & 08 &0
1° 2%
S* 18068 $¢80 Borreod & DHS® SodSODS RWE |B550°3
(g - e Scbzadn)
Options :
, 14kg
. S8kg
3 Tkg
4 10kg

Ly

Option : No Option Orientation : Vertical

Question Number : 86 Question Id : 4557344886 Question Type : MCQ Display Question Number : Yes Single Line Question

collegedunia:

India’s largest Student Review Platform



The time taken by a block to slide down a smooth inclined plane of inclination 45° 1s #; and
the time taken by the same block to slide down a rough inclined plane of coefficient of

~

3 is 7,. If the length and angle of inclination of the rough plane are same as

kinetic friction

-
those of the smooth plane. then ;l" 1S
2

o0 §'200 45° o a8 HHDH TendeoD Hod wE HI) §068 THLE Hinseo f
- .
58080 =B Tens0o, @B FED), Hé2 Db HHago 5 e HEOH e 0o SHob s
n  H
B3] 8068 BHLB Hin 5700 1, BONS T
= = 2

Options :

-

13
;o

b | =

o
S

Question Number : 87 Question Id : 4557344887 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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An object of mass 2 kg moving with velocity 20 ms™ collides a stationary metal body of
mass 100 g placed on a rough horizontal plane of coefficient of friction 0.5. After the
collision, the first body comes to rest and the second body moves on the rough horizontal
plane through 100 m before coming to rest. If the energy lost in the collision 1s absorbed
as heat by the second body. then the raise in temperature of the second body 1s

specific heat capacity of the metal =02J g7k . g=10ms™
(specific] ity of th 1=02Tg7'k 10 ms™)

20 ms~ 30" SN 2 kg (55078 e &8 5P 0.5 Hd Hgo Ko K §82
J3r086 00 JHoPES' &&) 100 g (B550°8 Ao 2. STH IRNJS & FHE
wPdrdo 20058, @PHrLo SHaE IGE SNH IHORSE SHIS 50003 Bods
HNDH (685 §&e SSrods Sosnp 100 mdrdo HaSrdod e HEE HSNSH. LPIrSos”
SPPF0NS O Todd I0H GRo CrHoed” Faodd, Dodd SHH BnE), GFHSS®
oleSlgbInls)

(5% D3YFY THggo =0.27 gk, g=10ms™)

Options :

| 35.5°C
;. IR
5 19.5°C

o
5 i B

Question Number : 88 Question Id : 4557344888 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A cyclist rides up a hill with constant velocity. When he exerts an average force of 20 kg-wt
on the 50 cm pedal rod. it completes 6 revolutions in 4 s. The power developed
by cyclist 1s

w8 $g8 JHS0D0S" 2.8 DESH Fodns 80 Handh. w8l 50 cm SEHho DES o°&
D 20 kg-wt 55én 200 HArA0NSING, @b 45 06° 658 HdEdosrren BHSE. wons

e

2B 20 2GS @‘E{:oggo

Options :

| 0.924kW
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320kW

L-2

1032kW

7234 kW

Question Number : 89 Question Id : 4557344889 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A billiard ball of diameter 5 cm at rest 1s hit by a cue at a height 0.5 cm above its centre. If
it rolls with a linear velocity of 10 ms™. then its angular velocity is

D)o YBS” &) 5 cmargdorio HOGHY o8 S8 /NS T Soz*d8 0.5 cm S 543
286 10 ms™! 3PoSH Fos* 08, A FSos DS

Options :

| 250 rad s

400 rad s}

13

3 200 rad s7!

500 rad s7!

Question Number : 90 Question Id : 4557344890 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Auniform rod AB of mass ‘m’ and length 2/ 1s falling freely without rotation under gravity

with AB horizontal. Suddenly the end A 1s fixed when the speed of the rod 1s *v". The angular
speed with which the rod begins to rotate is

B540°8 ‘m’ 5800 FEPH 21 $OAS 2.8 868 5@ AB'%cngzﬁ&rrﬂ Mo asdod” o
He5B)5. ABEG 08 SSroddor eob. §§ BB ‘v wonSHydd wiFdmr D56
A & Poorr Gomd. By 8¢ @Swo Boddo InGeHAE, d §'PahH o

Options :
v

!
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1.3

Question Number : 91 Question Id : 4557344891 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
A disc of radius R 1s pivoted at the rim and 1s set for small oscillations. If a simple

pendulum has to have the same time period as that of the disc. length of the simple pendulum

should be

R argarddn o §)@s 6 Ho8H @ohHdg @orddd Gosren BonRIH. a8 0P
S'o8dn GoTdds sodn SEsd Hof FoTdds sord HSriHaeod, Stogsn

S5

Options :

5R
4

2R
3

=

-I-:-l%

3

2

Question Number : 92 Question Id : 4557344892 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Two particles of masses m; and m,. mitially at rest and at a large distance from each other.
move under the action of mutual gravitational force. If R is their separation at any instant
their relative velocity of approach at that instant 1s

my 518050 my ((SgorHen He Todd Sorren eimrd S0k HEEE ©HE Srdos” Fnd
oSy PES® &0&, HEHE MHdeEden peo Jod SO0, R 0HEs 0 gnod
T8 $gg Erdo wond & Eoe® T8 wPHSS (Fdodg) FTE o

Options :

\/ G(m; +m,)
I R

\/ 2G(my +m,)
R

2

J 2(}(1111 - mﬁ
3 R

\/ (?r(ml - 1112_)
4 2R

Question Number : 93 Question Id : 4557344893 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The rubber cord of a catapult has a cross-sectional area 1 mm’ and unstretched length
10 cm. If 1t 1s stretched to a length 12 cm and a body of mass 5 g 1s projected from it. then
the velocity of projection of the body is

(Young’s modulus of rubber = 5 x10% Nm™)

28 3@ (catapult) §i8 B0E), Sepdd (@@ ;SJQSSSW\CS JFogan 1 mm? $5:8035%
FHB0HEN FEH 10 cm. HY FEH 12 cm wiHSod SE8 FHED, BS550°8 S g o &8
5595 62 008 HEB0 BDS = 52H HED IKS»

(Send> a$0R K285 =5 x108 Nm™)

Options :
1

i Sms™

;10 ms™!
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T |
3 15 ms

” =k
4 20 ms

Question Number : 94 Question Id : 4557344894 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An ornament made by mixing copper and gold weighing 50 g in air. weighs only 46 gin
water. If the specific gravities of gold and copper are 20 and 10 respectively. then the mass
of copper mixed 1s

mde® 50 g fHd) Ko o°h 0050 womrdo NESH0S BoHaRS 2.8 it Ases®
46 g 26293 Sri@d §dA &J)B. womrdo 5805 o°h DT JBY Hegen SEHJm
20 50805 10 2008, ©#600¢5° Sohads o°n $550°3

Options :

1L..?Og

20¢g

L2

Question Number : 95 Question Id : 4557344895 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two metal spheres S; and S, are made of the same material and have identical surface

finish. The mass of S; 1s thrice that of S,. Both the spheres are insulated from each other
and are heated to the same high temperature and placed in the same room having lower

temperature. The ratio of mnitial rates of cooling of S; and S, 1s

2,8 slayelely BoS Both S5 Aleren S1H0005m SHen $65 SSr5Fs GHdderes O
&aon. S (B55078 S, 550738 3 By, Body Aeod 28 wiE GFNSSH & Y,
LT O0G w8 GO0 D9, S8 LS Q) HBe* GodadNd. ®ond
S; 508050 S o §O §S080 Do NG

Options :

i 4
H]

y ) 3
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Question Number : 96 Question Id : 4557344896 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Ice at 0 °C 1s added to 200 g of water imitially at 70 °C ina flask. When 50 g of ice has been
added to 1t and 1s melted completely then the temperature of flask and contents becomes
40 °C. When a further 80 g of ice 1s added and melted completely. the temperature of
whole system becomes 10 °C. Neglecting the heat lost to the surroundings the latent heat
of fusion of ice 1s

0 °C 54 e S0 i e5* 70 °C & &yis o 200 g 38 TS, 50 g 50w
BO8 EODSDYH, @b Frimr SHHb S0l ) B8N ok doroe s 40°C
©LONO0B. &8 S8 a'm‘};. 80 g S0t BASE EODEDY, wd i $OASHYE Ingo

DgaR earid 10 °C ©o0o0d. HBJorwd &7 930 S5508008, 108 (BDEDS (2 aa3000
&P 3 &l —0

Options :
, 80cal g7

540 cal g!

L-2

60 cal g~

190 cal g™

Question Number : 97 Question Id : 4557344897 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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When some amount of heat energy 1s given to a monatomic gas. the work done by the gas 1s

70 J. If the same amount of heat energy is given to a diatomic gas. the increase in internal
energy of the diatomic gas is

08 JEHEST0E ToinHE Fod HBSr@o Mo GRFED NSHE FosnY JOS B
70 J. 3 H8Sr0 Ko & RIED 2,8 HEDEIT00E T 050HE NS, HEDEDT0E 7050
w0808 §8¢5° DG

Options :
1257

, 15017
317517

, 707

Question Number : 98 Question Id : 4557344898 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An 1deal gas 1s confined to an 1solated closed chamber. As the gas undergoes an adiabatic

expansion. the average time of collision between molecules increases as V*, where V is
the volume of gas. The value of x is

(Y= Ratio of specific heat capacities of the gas)

&8 806Ny Hrdd &3 0dd 5)3&’){3&3‘ 200883 G5B, & T gﬁ‘gé Tg8 0
DO DPE) P05 VNP P VHITSINO SdD 5°00 Vi 265808. RE) &

V 32030 &5H05700, ®o1nad X Jend
(Y= aro8»nd) Boog), IBFY rdoge AS)

Options :
vy+1
1 2

-

y —1
2

12

1+ 2y
-
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Question Number : 99 Question Id : 4557344899 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For a perfect gas the ratio of specific heat capacities 1s given by 1.5. The number of degrees
of freedom of the molecule is

B8 &0 JrolnYs DB FToTrge g 1.5 m aéﬂge&&é, 570000 W) GONE),

(o)
B0y D0 Dowg

Options :

.73

4

-2

Question Number : 100 Question Id : 4557344900 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A transverse wave 1s propagated from the lower end of a rope which 1s suspended vertically
from a rigid support. The nature of the graph drawn between the speed of the wave taken
along Y-axis and height from the lower end taken along X-axis 1s

$5yé 17760 08 ALY BerEBoHAS 1@k 8o SHod el &0g8 d8oK0 HJHORHB.
s 8o ) Y-280 Joad, = @ §ob 5 H0éd I8 X-vgo Joad &0FH ADS
2 Jgerdo

Options :

Parabola

| 20PIO0RNO0

Straight line parallel to X-axis

X058 ddroddomr H5¢0p
2

Straight line parallel to Y-axis

; Y-u508 dSrodbor S8¢0
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Question Number : 101 Question Id : 4557344901 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A sufficiently long closed organ pipe has a small hole at its bottom. Initially the pipe is

empty. Then if water 1s poured into the pipe at a constant rate. the fundamental frequency of
the air column in the pipe is

$hd0d DEYNO B8 TrRd AQDL w@MHZETS OY) Sogan Sod. dndd Ado

YT &00. 5 S8 R0 0n&® FHosS® A FoSHHH9E, AFLYos ™D md Jogfo
D08, (FRE THa)Fa0

Options :
Continuously increases

QBoSE0 ML

First increases and then becomes constant

088 8A S ‘{gdom G0LN05H

L2

Continuously decreases
QBosdo éﬁgi&)&&

First decreases and then becomes constant

; S SlalA) éSQ BBl iq;u:ﬁom &0&00dH

Question Number : 102 Question Id : 4557344902 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A thin equiconvex lens made of a material of refractive index = has focal length 0.2 m.

When 1t 1s immersed in a liquid. it acts like a concave lens of focal length 0.5 m. Then. the
refractive mmdex of the hiquud 1s

3
e 35182558 oo Ke éwgoé‘ RoHDES 2.8 Hendsd Do E §Lo8 Sgigoedan 0.2 m.

BAD 2.8 | BB5S50S* o S00DIDYE, ©& 0.5 m FFHFoSEINHe YLrsed SLESNSS
DS00NSH. (B350 SEFSS KeagSm

Options :

17

Lo
o0

Question Number : 103 Question Id : 4557344903 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two coherent sources of equal intensities produce maximum intensity of 100 units at a

point. If the intensity of one of the sources 1s reduced by 50% by reducing its width. then
the intensity of light at the same point will be units.

28 dERdgen Ko Do dowd soduisten af DoY) & 100 oSrdy KOR (3685
$ON[ 0. T8S” G 2.8 8380 BwE) IS EHowHd BT TP PS5 50% K
0008, ©8 HodhY I 5708 S 0D ©HHB.

Options :

| 90.35

189.86

-2

67.35
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Question Number : 104 Question Id : 4557344904 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A system has two charges 2.5 x 1077 C and —2.5 x 1077 C located at points A(0. 0.—15) cm

and B(0. 0. 15) cm respectively. Then the total charge and the dipole moment of the system
respectively are (in C. Cm)

2.8 SgHRES* Dotk sderen 2.5 x 1077 C 58050 —2.5 x 107 C e S6dm A(0. 0.-15) cm
58050 B(0. 0, 15) cm © 3§ ¢oS0dSd. wond Ingo w=dFo S0dasn 5553 BYES
grdosten HEHdm (C. Cm o¢5°)

Options :

0 75x10°®

75% 1070 Sx% 107

12

0. 75x10°°

s 5x107, 75x10°

Question Number : 105 Question Id : 4557344905 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two small spheres each having a charge +Q are suspended by two msulating strings of
equal length L from a rigid support as shown in the figure. This set up is taken mto a satellite
where there 1s no gravity. Then the tension in each string 1s

288,88 HQ 3)5&35@5%‘0 §OAS Bod DY) Feen J3rSDS > L do Bod 2068
Srod’ a8 5§50 08 IIneS* SrHddy BordboHadsd. & SgIR8 MdagEde
B8 G0 '8 EFD IHkod. wond w88 SIS SS54

+Q +Q

Options :
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Question Number : 106 Question Id : 4557344906 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two neutral metal spheres. each of radius 5 cm are placed with a separation of 1 m between
their centres. Some charge 1s transferred from one sphere to the other such that a potential
difference of 33.4 Vis developed between the surfaces of the two spheres. A proton released

from rest from the surface of the positively charged sphere strikes the surface of the other
sphere with a speed of ms~..

(charge of proton = 1.6x1071? C. mass of proton = 1.67+10"% kg)

&8 88 5 cm agrdo do Bodd SHY STHH Feod o Sore gy 1 m &rdo

S0BLLNT wHo®. Bokh Fee deore Sy 33.4 VBAHS o 6B 568 &8

0 08 H88 Ao Fod uBed) SrdEDSH. Fo3¥0 Fodd A¥ do0 ok o8

i OHD ?g}é& 00& SHOS ud Bokd Ao GB0E), deord) SBINEIS o0 I3
ms 1,

(@rers sddo = 1.6x1070 C, @irs $5g08 = 1.67x102 kg)

Options :
2104

—

4x104

L2

8x10*

sl

, 16x104

Question Number : 107 Question Id : 4557344907 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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A parallel plate air capacitor has a capacitance ‘C’. When 1t 1s half filled with a material of
dielectric constant 5 as shown 1n the figure. the percentage increase in the capacitance will

be

.8 J3rodd Jofe md SFHLE ‘C’ STOHE) §O0 God. AN HLoS® Irdl HFomr

5658 ?gwoéo S5He 2.8 ;:’zcsngoﬁ"’ A8 o8 v S8’ ndhihEe &S50

-a
IS
| F'S]
(%]

V///77A
LTS
RERTT S
/17777
/77777
/' /7777 /
/1177 )
VALLS T
4
00
/77 77/
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4
2

Question Number : 108 Question Id : 4557344908 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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Eight resistors are connected as shown in the figure to a battery of emf 12 V. The current
through 12 € resistor between the junctions B and C 1s

506" FrHd Do INNG AT Fsos 12 Vemf fo a8 erghrbs” §06. B Sodosn
C doche gy Ko 12 Q cJS‘qﬁéo oQo° DS (HareTto

A 60 = PO & VPO 5

& s * B0 © s B
12V
+ | =
| |
Options :
| S0mA
31‘_‘30111;’1&
4200111:%.

Question Number : 109 Question Id : 4557344909 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For the circuit shown in the figure. the power dissipated in the steady state 1s

He0eS* BWrhHd Seo50e5, HeBEdées” ci:doggo“jséooné ﬁnﬁoggo

3 uF — — 2 uF

Options :

collegedunia:

India’s largest Student Review Platform



=
S

Question Number : 110 Question Id : 4557344910 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

When a superconducting loop with zero resistance 1s moving towards a magnet. the flux
linked with the loop

ErSgb*go o w8y &ﬁi)éf wohar) o0d0 I BOASHYE, T°I8 sS5)EDS whadro

Options :
Increases

| 28000l

P

Decreases

é@?#fé}o&ﬂ

12

Remains constant

?{gdom = 0800856

First increases then decreases

08¢ BA Jeg éﬁg:ﬁa

Question Number : 111 Question Id : 4557344911 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A copper wire of diameter 3.2 mm carries a current. If the maximum magnetic field due to
this wire 1s 2.5 mT. then the current in the wire 1s

3.2mmargdo e o°d GKS® DS BITBKG. & & Se K87 wohd o8 §igo 2.5mT
w00, TIS* IS Harsdro

Options :
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Question Number : 112 Question Id : 4557344912 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A telephone cable at a place has 5 long straight horizontal wires each carrying a current of

1.4 A from east to west. The angle of dip at the place 1s 60° and magnetic declination 1s
zero. The resultant magnetic field at a point 3.5 cm below the cable 1s f i

(Earth’s magnetic field at the place =0.4 G)

6.8 88 1.4A Jga ©arIt) drddy SH01) D80T 3 §DA0S0E) 5 ) 8O §&e
J3rodd Bfen w8 PBESH 3§ &F) BOFS SdS' §0f). & PBFS* vdrd oo
60° o005 woHAY 0d HENYE0 D). Send 808 3.5 cm SrGoest Ko 2.8 Do ¢
PO wadhiam 08 o T.

(s ©HBF0oS® greohHiar o8 ggo =04 G)

Options :
1. 2x107

3x107

L2

4x1073

(5]

4 5167

Question Number : 113 Question Id : 4557344913 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A rod of length 4/ is rotating about an axis passing through it at a point ‘O as shown in the
figure with an angular velocity ® in a uniformm magnetic field of mtensity B which is
perpendicular to the plane of rotation. Induced emf between its ends 1s

4] FEHre §§ HoS® SrHs HFor ‘O Hokdd) Hom FEE) wio Hor FHoHSE
0F e eoadom Bagddie J868 wohim o §iBos” g@dwo Bosnd)s.
©woNd §§ e Hy @08 Jgre

% 1

Options :

7 2Bl'®
4B’
3

B’

Question Number : 114 Question Id : 4557344914 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anac voltage of 100 V. o Hz 1s connected across a 20 Q resistor and 15 mH inductor in

n
series. Then the impedance of the circuit is

500 -
100 V. — Hz ac £82 20 Q d86°¢80, 15 mH (@d8o0e Hom @55° D, wons
- X

IO0H0 B0E), S Tenle

Options :
250

) 40 Q
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Question Number : 115 Question Id : 4557344915 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A laser pomnter of power 3 mW creates a spot of 2 mm diameter on a screen. If the screen
reflects 57% of the light that strikes it. the radiation pressure on the screen 1s

—

(speed of light in vacuum = 3x10% ms™)

3mW éﬂaﬁjggoﬁ@ 2,8 B2 ronodd (De3 D)) &8 80 2 mm rgI0ie 2,8 o8 &
SE\EH208. BE D HA 5708 57% > Hor SN0 TR, B6H J86w HESO

(FrSgoes® 08 5& = 3x108 ms™)

Options :

| 3% 1079 Nm™

4 x 1079 Nm™

a

5 % 1079 Nm—

6 x 1079 Nm™

Question Number : 116 Question Id : 4557344916 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A photon of energy E emits a photoelectron from a metal surface whose work function is
Wy If this electron enters a uniform magnetic field B in a direction perpendicular to the
field and describes a circular path of radius ‘r’. then ‘r’1s

(m - mass of electron: e - charge of electron)

HUPoHo Woie a8 S5 458800 $00, E 4§ o FErs, wl #85° dJogsdh
&T60 BR0H. & JOFS 868 wohHir) o8 §Fo B S°08 woaddS' ®B80d T’ argirgo

&
o @50 DF°A) ©®NJIBN0H. YOI T’ VD

(m - JOEFTS B550°3, e - JOFS =3¥0)

Options :
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J2m(E-Wp)
| 3eB

J2m(E-W;)eB

J2e(E—Wp)
3 mB

J2m(E-Wp)
4 eB

Question Number : 117 Question Id : 4557344917 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The radius of the first orbit of hydrogen 1s ry. Considering (™ particle with mass 207 m,
revolving round a proton like in Hydrogen atom. the energy and the radius of the orbit of
the 1~ particle when 1t 1s in the first orbit are respectively

(Assuming proton to be stationary. m, - rest mass of electron)

TGRS B8 3G 857y argardo g TR HESrYHS” o, wf 1P
207 me (555078 &) 2.8 K 8200 HOEID[IH)EN 0508008, 003 §858° M Smo ¥§
0005 S§°§ 5}16510;@3 B2

(e REB0m GHEHEEE80, me - IVED Ho°H BST°8)

Options :

13.6 x 207 eV . —H_
T =¥'2 307

207 x13.6eV . 207 ryg

12

—13-63 I'y
y T 20T
13.6
———eV 207
. 207 "l

Question Number : 118 Question Id : 4557344918 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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A nuclear reactor of power 200 MW uses U as fuel. If0.1% of mass of U>*° is converted
into energy. the mass of the fuel consumed per day 1s

200 MW &8o8g0e 2.8 Sos8 003r§6 U5 & mogssnm &s@raosmgs. 0.1%
g BS5g0°8 8 5008, a8 6'ereS* DABrAoWwA 065 (($550°8

Options :

119.‘1g

192 ¢

L-2

0.192¢

1920 g

Question Number : 119 Question Id : 4557344919 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Five logic gates are connected as shown in the figure. If A= 1 and B = 1. the values of
Vy. V5 and vy respectively are

0 $6), Tgoren H8065° Srad o §endedsd. A=1580%0 B=1 20038, ¥. ¥,
0050 V3 Denden G

Ae o D‘_l

Be {>c }E

Options :

L 0.1.1

1.0.0

-2

. 161

i 1.
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Question Number : 120 Question Id : 4557344920 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The modulating wave 1s given by V,, =4smmo,t and the carrier wave is given by

'V, =16sino.t. The percentage of modulation is

SrdgBidof Hossdn Vy =4sine,t H803n amirg Sosdo V, =16sinat ©onsd
SrdgBas Jrd TES50

Options :

1. 50

TR

3. 100

2
4. 23
Chemustry

Number of Questions: 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question Id : 4557344921 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the wavelength associated with particle A is 5 x 10~°m. then the wavelength associated
with particle B having momentum half that of A in ‘m’1s

A 5290 3DNE), ;jdoﬁgggo 5 x 103m wonad. B =0 G308, @Ségﬁﬁo A 80 8508 J0
&5y o°d S0 Bgo ‘m’ o5

Options :

. S 10*

1 %107

-2

2 x 107

6 x 10734
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Question Number : 122 Question Id : 4557344922 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A): The kinetic energy of the photo electrons increases with the increase of
frequency of incident light

Reason(R):  If frequency of incident light 1s less than the threshold frequency. electrons
are not emitted from metal surface

D3 do (A): 57086 JOESY H&2¥f H855°08 FBiHSgo DOA FH DBHHH
s*d20 (R) : DES 5708 BE) TH1YSgo wdogf FPIYSgo 0B S5 D EFHIYD,
S ¢H0d00 Hod JVEFVY DONLE FVSED

The correct answer 1s

SN JBITTHB0

Options :
Both (A) and (R) are correct and (R) is the correct explanation of (A)

1 (A) S0805n (R) en Bodr 385080 58050 (R) @36 (A) & 30508 HS6

Both (A) and (R) correct but (R) 1s not the correct explanation of (A)
(A) 58050 (R) &0 Bodr 38508 wond (R) @38 (A) § 50508 DG 5260
2,

(A) 1s correct but (R) 1s not correct

. (A) 3833058 570 (R) S8F058 5765

(A) 1s not correct but (R) 1s correct

, (A) 88556 50 (R) 3050586 565>

Question Number : 123 Question Id : 4557344923 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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The change in properties which are common to elements of both groups 1 and 17 in the
periodic table are

a) lonization enthalpy decreases down the groups
b) Reactivity decreases down the groups

¢) Atomic radius increases down the groups

d) Electronegativity decreases down the groups

250 B’Jégét‘i"’ ey 1 8oy By 17 Sorestofo GANBT GY) §o7o JrEden
a) ©oHASED JoFrd) [IrHee® Bodd S

b) dorgrod firYod” ol S

c) DA FS@‘QO Hirees® 1§odsd 8

d) e SlaViqait L e Bockso S

Options :
 a,c.d

‘a,b,c.d

L-2

; a.b.c

4 b.c.d

Question Number : 124 Question I1d : 4557344924 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the following statements 1s not correct?

8od DSC0S* IH HOSH TE?

Options :
s-orbital does not form a n-bond

; s-250\¢rS M-20650:50 Dd&dzﬁcﬁa

Energy of resonance hybrid of the O, 1s lower than that of either of the two canonical
forms

0,;388"3IQ) 706 #§ o°0 Dot BS'VES drare ¥§ 508 S8S

2
e
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o-nitrophenol 1s involved in intermolecular hydrogen bond

3

0 - IE* DTS wodE B TE RS D0FoST JSTHN

Dipole moment of NH, 1s higher than NF,
NH, B8 Gqgodegraoso NF; §08 080 9 6080
4

Question Number : 125 Question Id : 4557344925 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

The correct order of type of hybridisation and shape of the following species 1s

808 e Ho8088m G50 HB wE O IBFES SHD ESo

a) [Ni(CN),J™

a

Options :
sp®
Tetrahedral

B GS
1.

dsp”
Square planar

BB08e BEEES

L-a

cl‘sp2

Square planar

5580 SEHEE

sp
Tetrahedral

B rGS

Question Number : 126 Question Id : 4557344926 Question Type : MCQ Display Question Number : Yes Single Line Question

b) CIE,
b
sp°d
Trigonal b1 pyramidal

BASES BOSNHES

sp'd
Square pyramidal
DI DD ES

T-shape

T-es5=80

sp°d
T-shape

T-=s580

Option : No Option Orientation : Vertical

¢c) BrF;

sp’d’
Octahedral

=5 oIS
a

spd?

Trigonal b1 pyramidal
@Ff‘éeb_ B DODES

spd?
Square pyranudal
SO DENES

sp>d?
Square pyramudal

DB DENED

d) [CiE >

d

sp3 d.’!
Square pyramudal

WG DENED

dZSPB
Octahedral

S5 @S
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3.2gof oxygen and 0.2g of hydrogen are placed ina 1.12 L flask at 0°C. The total pressure
of the gaseous mixture in atm is

(assume oxygen and hydrogen as ideal gases)

0°CS¢ 1.12L 50 &5° 3.2g sz 0050 0.2g @2 Sodadsd. & 57050 MEFHo

3ngo HdSo atm oS*
(8§12, TIFT R 66 TSNHON ©HEKS0)

Options :

i 7}

Question Number : 127 Question Id : 4557344927 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

When 50g of sulphur was bumnt in air 4% of sulpur was left over. The volume of air in litres
required at STP containing 21% oxygen by volume is

50g © 36 mOS® So0BIHYE 4% SN MAdFon0d. STPSE 21% a8y HSHOSr00
DEOT 53OVH MO PIHdIr0 Obfes®

Options :

1.33.6

11.2

L2

5 160

4
1o
b
=

Question Number : 128 Question Id : 4557344928 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Match the following

List-1 List-1I
AH AS AG (Description of reaction)
A - + ~ I) Spontaneous atlow T
B) - - - I1) Nonspontaneous athigh T
C) - - + IMI) Spontaneousatall T
B + - - IV) Spontaneousathigh T
V) Non spontaneous at all temperatures

508 o738 &5

rde -1 e -1
AH AS AG (585 HSG=a)
A - + - ) oo XS 3§ wahHésdo
B) - - - ) «68 ¢S 3§ wiaHéEso
C) - b + ) =) eFrde 5§ wohé)gso
D) + - o IV) =68 g 38 «ohé)sEo
V) =) edide 3§ o5008)8E0

The correct answer 1s

BOGIS BEFTHB0

Options :

AT E D
| T ¥

A B B D
N B ¥ an

A B ¢ D
N F 3

B € D

A
S T W

Question Number : 129 Question Id : 4557344929 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
P collegedunia:
Qo :
India’s largest Student Review Platform

—



Observe the following reaction

NH,HS ) = NH,, +H,S

If the total pressure for this reaction at equilibrium is 30 atm. the value of K, (in atm?) is

Eod S6g5 H03D0wBN
NH4HS , = NH;3,tH,S

& SEg% dHoerRs 5§ Indo adSo 30 atm wond, K; Dend (atm? ee5°)

Options :
, 925

Question Number : 130 Question Id : 4557344930 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If pK, of a weak acid (HA) and pK, of a weak base (BOH) are 3.2 and 3.4 respectively. the
pH of their salt solution (BA) 1s

2058 50 (HA) pK, 5:0050 axeirsgdo (BOH) pKy denden $563m 3.2:5008050 3.4
2008, 78 odn TSm0 (BA) G308 pH Jexnd
Options :

TR

7.0

L2

3 6.9

4 7.6

Question Number : 131 Question Id : 4557344931 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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What volume of oxygen in ‘L’ at STP is iberated when acidified KMnO, solution containing
0.1 mol of KMnO, 1s added to excess of H,O, solution?

0.1 mol KMnO, ffe> es208y% KMnO, (3°5:97Q), =58 H,0, 750708 §95H k), STP 54
Q08 PINBIr00 o szl ‘L'eos” JdrEoHsoh?

Options :
l. 5.6

-
[e—
—
L)

Question Number : 132 Question Id : 4557344932 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

On dissolving moderate amount of sodium metal in liquid ammonia at low temperature.
which one of the following does not occur?

S8 S SANS 3G D& HOBIr05” AFROHO S0 1B w3
BoH a°¢3e5° 2BEHIE JB?

1003reS” EBA0NSHYE,

e

Options :
Blue coloured solution 1s obtained

1 D9 BoiHd (TS0 8

Thuis solution has paramagnetic property

& |50 FUT WoHIY0S o) EOA &otnod

L2

This solution becomes good conductor of electricity

& |TPDWO 0L) DEIZTCETEO B

This solution remains diamagnetic

& (O°D9200 B3 ©oHa 08 $6)08 &odFsod

Question Number : 133 Question Id : 4557344933 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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Na,B,0, -10H,0—2 5 X+NaBO,+H,0

X+CoO—2 7 (Blue colour)
(QOS0D)

XandY are
Xandosn Yeu

Options :

 Na;BO;. Co (BOy),
_ Na,B,0,.Co (BO,),
. B,0;.Co(BO),

B,0;. Co (BO,);

—

Question Number : 134 Question Id : 4557344934 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following statements is not correct with respect to group 14 elements?

(D) 14 Soresrosd Ho05008 §ob HIS0E® 6 HBDSH 5°6?

Options :
The stability of +4 oxidation state decreases in the group

: +4 =856 H8& BN oS0 rHS* SHS
The common oxidation state for carbon and silicon 1s +4
s5S, WO5I0H Frdn 856 & 4
3.‘ %
Pb*" is more stable than Pb*" ion
Pb* o05rS $08 Pb* woirS 2898 Ybom &0k
3.
The stability of +2 oxidation state increases in the group due to inert pair effect

, 86 zob Berdo S0 +2 88600 H8 REE0 HrHS® DEHHS
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Question Number : 135 Question Id : 4557344935 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following statements is not correct?

80d woFes® JBFIH TIE I6?

Options :
Lower the concentration of dissolved oxygen. the more polluted is the water sample

§00 &) s8md mEd S50 5 whgFed I8 Tgohd whgonr SenhdSrPHHrod

The tolerable limit of lead in drinking water 1s 50 ppb
@NAS* BE S KBHom 50 ppb e &oBSE)y

L-J

Water 1s considered pure if 1t has BOD less than Sppm
BOD dend Sppm $08 €5 3 &) A HE A6 erdoH8dd

In COD determination. the pollutants resistant to microbial oxidation are not oxidised
by oxidising agent like K, Cr,0,

COD & dgonowHress® SrfEs w§gse J5'EE Srn seody sdsen K,Cr,0,
S05 =8 185:58° w8860 BodYH

Question Number : 136 Question Id : 4557344936 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

0.5g of an organic compound on analysis by Kjeldahl's method gave enough ammonia to
just neutralise 20mL of 0.5M H,SO,. The percentage of nitrogen in the compound 1s

0.5g » 2.8 s**de_*zﬁ éﬁ);ﬁfémaf‘ﬁj Berd a’gs‘i&@‘ DFAD0 200009@ ©HOVS VIV
b |-- . o I-.
n;.ri

20mL 0.5M H,SO, & &t:588050856.

(™

JA¥H50e* JE'esS T o

)
&

Options :
1 36

28

L2

3 42

4 14

Question Number : 137 Question Id : 4557344937 Question Type : MCQ Display Question Number : Yes Si
Option : No Option Orientation : Vertical

e Line Question
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Which of the following 1s oxidized by KMnO, solution?

o8 S° 26 KMnO, 52008 88800 B05r&?
Options :

. CH;CH,CH,

CH,

12

, CH,CH;

, (CHy),CH

Question Number : 138 Question Id : 4557344938 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Conc.H,50, i) Alcoholic KOH
Ethyl alcohol ___T% Hy504 B, /CCly i) =y *95 KOH Bry /CCly
5 443K > A > B ii) NaNH, ¥ £ >D

':'@e_'ﬁ' %@EI#EJ’

What 1s D 1n this reaction sequence?

& S6g0 @SS D 26?

OpFiﬂns -
, CH=CH
CHBr, - CHBr,

S

. CH,Br—CH,Br

CH, - CHBr,

Question Number : 139 Question Id : 4557344939 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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In a cubic close packed structure of mixed oxide. the lattice 1s made of oxide 1ons. One

eighth of tetrahedral voids are occupied by cation A while one half of octahedral voids are
occupied by cation B. The formula of the oxide is

2.8 DEFD BB M IQ)erd Erdd) 007)20065° wBE wairaen 7S J0°E0H Y.

1 1
3 508 BErTdS Sogres® shHoirs Aen S0805» Eéai’@ sg s Sogrod®

520050 Ben ssi§nodad ¢8)d. ©8)& BwE) Finer

Options :

L

ABO

. ABO,

3

4.

A7BY0O;

AB,O,

Question Number : 140 Question Id : 4557344940 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the following is correct for solutions of components of A and B to follow
Raoult’s law?

A, B vfdbsen &) @dwren, T8 d0H8rd) Fomreod, §od o8e8° H8G0S5E 2672

Options :

L3

A-B attractive force 1s greater than A-A and B-B attractive forces

A-B=o a’ncjg ﬁa’a %éqlaa ere) A-ASHoi» B-Be a’)Jc:Sg t—tvs’a:l a—séql::a pere) 08
oo &0

A-B attractive force 1s less than A-A and B-B attractive forces

A-B= ::33(55 ﬁ:@ @;sscjlz*a 2eren A-ASHHBoin B-Be ‘é)(‘jg ﬁsﬁg st_séql:.a 2ee) §0&
8 Jr &0k

A-B attractive force remains same as A-A and B-B attractive forces

A-B» 5::(:55 ﬁéﬂl Esqfca eren A-A Sdcsn B-B o 553(;53 ‘ﬁ':’i &séqlea gerer s
DAFTK0MT OO
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Volume of solution is different from sum of volumes of A and B components
(E°H£00 G308, WID0ITR0 Ad05N B wdhodndrste d3ngo dHdarrards o

&0
4,

Question Number : 141 Question Id : 4557344941 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

How many grams of sucrose should be dissolved in 100g water in order to produce a

solution having difference between the freezing point and the boiling point temperatures
as 105.0 °C?

(K;=1.86 Kkgmol . K, =0.51 K kg mol™)

2 (rdne HE'ESD 100 g Hi3eS* $0A0DSHYE INE H00 B, waEHS Ldo
000350 PSS L0 ey az 105.0 °C m &0k&?
(K;=1-86 K kg mol™!, K, =0.51 K kg mol™)

Options :

| 342

72

13

3 342

460

Question Number : 142 Question Id : 4557344942 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

At T(K) the molar ionic conductivities of NH; and OH" at infinite dilution are 72 and

198 S ecm? mol™! respectively. The molar conductivity of 0.01M NH,OH solution at the
same temperature is found to be 9 S em? mol™. The percentage dissociation of NH,OH
at this concentration 1s

T(K) Eé%SINHI 306050 OH™ e0irae ©568 rers arardden S6dHm 72 50805 198 S cm?
mol ™ 3 &8 3¢ 0.01M NH,OH @S0 Gng), arers o268 9 S cm’ mol e &6,
& s 58 NH,OH g, xS 780

Options :
| 3.33
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L2
|
[o—
4

Question Number : 143 Question Id : 4557344943 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

When the concentration of a reactant in the reaction. A — B 1s increased by 8 times. the
rate increases by 2 times. The order of reaction 1s

A - B w3 $56ge5* (Basr 2580 m@d 8B4 DOASHYE Sorgiin 208 . & SE3
G3208), 837080

Options :

y 2

[
L

Question Number : 144 Question Id : 4557344944 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the gold number of potato starch is 25. how many grams of it 1s required to prevent
coagulation of 100mL of gold sol on adding 10mL of 10% NaCl solution?

200 6y BnE), fey dopg 25 wond 100mL Fey S8 10mL © 10% NaCl
75200 EOHSHYE 200 0650 Ho0D) HBEEOBTAE DY TSNO 8y BIBEDKS?

Options :

, 0.30
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Option : No Option Orientation : Vertical

Question Number : 145 Question Id : 4557344945 Question Type : MCQ Display Question Number : Yes Single Line Question
Which one of the following methods 1s used for refining metals of low boiling point when
they contain impurities of high boiling point?

wHE S ;ﬁgéo e DT en EOAS vy SodibH ;-ﬁ;sﬁo Ko &% erd 5350 Bos»
Options :

Zone refining

e

HEEH DH?
G
Svode §°¢%50

Poling

L2

FFoon

Distillation

4?35(550
3

Froth floatation

555 DEH
4, o

Option : No Option Orientation : Vertical

Question Number : 146 Question Id : 4557344946 Question Type : MCQ Display Question Number : Yes Single Line Question
The chemuicals used in Holme’s signals are

9¥8) doserd &HDrNod araharen
Options :

Calcium nitride and calcium carbide

5°905H0 JBS Sod0sn 5700 STO\GE
l. = & "

Magnesium mitride and calcrum phosphide
| hijacso 3BE 50050 5°H0Ho FRB

Calcium carbide and calcium phosphide
3

| 5*90%0 51:93}5 30050 7Yoo @ﬂ'a&

gcollegeduniaa
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Calcium chloride and calcium carbonate

’ oo §08& $H805n 57050 516‘333-53'

Question Number : 147 Question Id : 4557344947 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Consider the following reactions
X(aq) + H,SO, (dil) = Y. colourless gas with pungent smell

ry-!—Mno; +H,0 - Z. colourless solution

Identify X and Y in the above reactions

§ob SEgod H503D0WIBN

X (o)t dz2e H,S0, = Y. 50/H82 388 P8 e aro0d)
IY-*-MnO}i—HZO — Z. 8089 S0

2 S8gees® X 5Hdosn Yol $dosod

Options :

~ SO7°.80;

'NO3.NO

]

S™.H,S

4 CI™.HCI

Question Number : 148 Question Id : 4557344948 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the following reactions of Xenon compounds 1s not feasible?

A JfTe §od SEges* 26 Jen 57¢?

Options :

. XeF,+SbF; — [SbE, | [XeF;]

3
3XeF;+6H,0 — 2Xe+XeO; +12HF + =0,

1
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4 2XeF,+2H,0 — 2Xe+4HFH0O,

, XeFs+RbF — Rb[XeF, |

Question Number : 149 Question Id : 4557344949 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

i,

—

The number of unpaired electrons in [PI(CN ) 4] ~ ion having square planar geometry

(At. No. of Pt =78) 1s

, -
dHde FSHOD Fgnd o [PI(CN]J VOIS ) 2,000 JOFNL Sopg

(Pt B»g), HBSre Sopg = 78)

Options :

1 0

L2
[e—

Question Number : 150 Question Id : 4557344950 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the following is the correct order of 1onic radn?

808 T8S* B VOIrIE FFFTO 8PS ES00?

Options :

| CeB <La”<Pm™ <Yb™

FHP<Pm<La*? < Ce™

L2

YbP2 <PmS <CeB <La™

1 PmP<La¥<Ce® <Yb"

Question Number : 151 Question Id : 4557344951 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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Which of the following are biodegradable polymers?

a) PVC
b) PHBV
¢) Bakelite

d) Nylon2-Nylon6

§ob T0S° £S5 Foors)s FOHcen ID?
a) PVC

b) PHBV

c) BEBES

&
Feul

6

om

- —
e 2 - JeT°

feul

(1
&
g

b.d

Question Number : 152 Question Id : 4557344952 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following does not exist as a zwitter 1on?

§0ob T3S B 26 ©ASEIT B0EE?

Options :

Glycine

A0S
a_

L2
e
c
2l
am

Sulphanilic acid

SeTues &0
) Lt
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D-glucose

, Dizs's

Question Number : 153 Question Id : 4557344953 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which detergent is used as a germicide?

BnaFSomr &HBrRod Agots 67

Options :

Sodium lauryl sulphate

-

FR0H0 B TN
o

Cetyltrimethyl ammonmum bromide

O3S (B NP5 wFroHo B

13

Glyceryl palmitate

Sodium dodecyl benzene sulphonate

FBoHo G'BES BoES SSHNIS

Question Number : 154 Question Id : 4557344954 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Consider the following reaction

Br
|

CH, —CH, —CH—CH, — 2RO, Y, —CH, —CH=CH,+ CH,; -CH=CH-CHj

A

D

Which of the following statements are correct?

(a) I1sthe major product of the reaction

(b) IIisthe major product of the reaction

(c) Formation of I is in accordance with Saytzeft rule
(d) II is more stable because it 1s more substituted

(80h 8¢ HB3DoBos

Br

CH3 — C][—I2 — 0 - CH3 Eu;_;aiQEKOH

A

(D

808 wozee® JBGS HIGeD ID?

(@) & S6gS" 1 HErS o

(b) & S635° IS &dyHo

(c) IGkod D& B JohHo Hs o S

(d) NEVRY HESH5en &od) S8 IT 89, ?gdonﬂ &0

Options :
1 a.cC

b.c

2

; a.b

4 b.d

(D)

s CH, —CH, — CH=CH, + CH; — CH=CH — CH;,

(I

Question Number : 155 Question Id : 4557344955 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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Which one of the following reactions will yield 2-propanol?

80od S6gees® 2 - |FOHFSH G

(a) CH,=CH-CH;+H,0—%

>

® cHo- g

(c) ‘CHg-CHO il‘%;;gi ;
@ G~ CH-Cly o
Options :

1 a.b

, b.c

3 a.C

4 c.d

) o

o)’

?

Question Number : 156 Question Id : 4557344956 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

The major product/s expected from the mononitration of 3-methyl phenol 1s

3-0086 DS IrS’ JJANS® Siroddl HES edo/en

Options :
OH OH
CH
L. 2
OH OH
CH;
NO,

=
r

CH,

NO,

CH;

-

el
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OH OH
O,N

CH; CH,
NO,

OH

NO,

Question Number : 157 Question Id : 4557344957 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A muxture of benzaldehyde and acetophenone on heating with dilute NaOH solution gives

[ ]

B0 s $H0050 VDS MFSrA) S0 NaOH @Se008° 38 BOSHE 0DHodHss

Options :
Benzophenone

oS DD

Benzalacetophenone

1

Benzyl alcohol and sodium benzoate

BoBS we) 555 $o80%0 FA0O BoA G

J

Question Number : 158 Question Id : 4557344958 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Which of the following compounds give a yellow precipitate with 1odine and aqueous NaOH
solution?

(a) 2-hydroxy propane
(b) Acetophenone
(c) Methyl acetate

(d) Acetamude

Bod 7¢365° ©@NAI B0 NaOH zomdod® 3508 Sofh ©58508) B\E1E8D 27
(a) 27§ @08

(b) ADEHIS

(€) RS ADBE

(d) dDLHDE

12
7
o

Question Number : 159 Question Id : 4557344959 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What are A. B. C and D 1n the following reactions?
808 $Egees* A, B. C 58050 D en Jé3?

LiAIH,/(C,H;),0

CH,COOH > A

CH;COONa —220 5B

CH,;COOH 2% ;¢

CH;COOH—125D

A B ke D

Options :
gcollegeduniaa
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CH,CHO CH,CH, (CH,C0),0 CH,COONH,

, CH,CH,0H CH, (CH,C0),0 CH,CONH,
CH,CH,0H CH,CH CH,C0),0 CH,CO

o T g (CH;CO), S,
CH,CHO CH;COCH; CH;0CH,; CH;COONH,

4

Question Number : 160 Question Id : 4557344960 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following statements are correct?

a)  The basic strength of ethyl substituted amines in aqueous solution 1s. (C,H;);N >
(C,Hy),NH = C,H;NH,

b) Aniline has five resonance structures but anilinium ion has only two resonance
structures

c) Presence of -OCH, group on ring increases the basic strength of aniline
d)  Presence of -NO, group on ring decreases the basic strength of aniline

808 ®oFT0es* JS8GED ID?

a) 2OTrIN0S” agd PEEHE Jde §¥ wore EHo, (C,H,),N > (C,H,),NH >
CEHﬁNH?_

b) AVOSK ©020%H BE"IR) T7sseen €0k, 570 VOV LoIrSE Boad 5'8°IY
Q07T 508D

c) 500‘500’33 —OCH,; 7)) &)y Q00 o800 DEHDS

d) 5’)&)0‘530’3 -NO, () &5HDdyed DO 576 20 S50

Options :
; a.b.c

b.c.d

L2

a.c.d

a.b.d
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